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Belgrade is the Capital of -

= a3 A

AT
A.Seychelles

Aol o

B.Xdigl
B.Rwanda
B.\&l,,

c.gfsar
C.Serbia
C. L

D.UF
D.Peru
D.sou

c.gfsar
C.Serbia
C. L

1M1 x13x17 =7

1M1 x13x17="7

1M1 x13x17 =7

A.2431
A.2431
A.2431

B.2441
B.2441
B.2441
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C.2531
C.2531
C.2531

D.2521
D.2521
D.2521

Answer: A.2431
A.2431
A.2431

3 AT Wieilel TATd Tl BT IR HIEAT Cr@idedn Hed. Weard faarerear Regrear
faeger drser FIvr e Jider?

DIRECTIONS: In the following questions four positions of the same dice are shown. Select the symbol
opposite to the symbol as asked in the question.

oo Jlgaw 57 2 iz o canle pul e &5 ilg Gullo Jlz (S sl 50 il reo Upllgun 25 2 i Ll
ot 2 golas 2.5 caMe &S g7 o

ar Feegrean favey daisfen HIond og 3T¥er?
Which symbol will be opposite to symbol © 7
‘Eufym w8 ol O plas Luig§

Answer: A.+
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eilel TATd Uh AT idael qrafdell g 30T A dediddl HIhdl FULA Algen 316, HHEGredr
ARTCAT Il dfdedrd Agdl ol Hhdl JgHuer &7 el § TFalen sdad 3%.

DIRECTIONS: In the following questions, a design is given, marked as kev figure. You have to
determine which will be the exact view of the original kev figure seen from the reverse side of the paper.

pﬁ|35ﬁhﬁf_bbgsfg:;i:;mQL.".‘.L_-"S'Jichlm|_;.g_u.\.|.J_-.ﬁl.!flp[_,iu.ﬁjupJEMf_Jf_@iuth
$Boe LusisS = pur sl il S 3215 lnin (aalad IS S

7 gt

Main Figure

iy Ly Y

©

(A)

(B)
(€)
(D)

Answer:

(A)

@ ©e 8 e

5 HRAT HISITHAT HIUT 3HTed?
Who is the Minister of Coal in India?
o Suie S Sl
A4 $gford Rig

A.Rao Inderijit Singh
A S il i
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Answer:

Answer:

Answer:

B.UIgy M
B.Piyush Goyal
B.Jif sy

CHYUY
C.Suresh Prabhu
C.se U

D710 BIUTE! ATt

D.None of these
D.ost £sS el

B.UIgy M
B.Piyush Goyal
B.JisS sy
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DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,

choose the one which can be substituted for the given phrasal Verb.
New rules have been laid down to deal with tax evaders.

A.vacated
B.escaped
C.deleted

D.specified

D.specified

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,

choose the one which can be substituted for the given phrasal Verb.

You shouldn't bring up the topic of his son’s inter caste marriage while you are having a chat with him.

A.introduce into discussion

B.delete

C.forget

D.eliminate

A.introduce into discussion
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8 T : T Ud® THTd G faum | 31707 11 faeial 3ied. § faUm™ Thor Wdd SRUT SRy hard fdal
W HRU UROM 3R YhdId. Tite! T e 3aR faemmar uikomy e/g Tl gkl faem™ amr anfor
WU BT IR T a1 gigt faeumedie Teeie qui Hal d ol

ICRIGE
. I HRATd e AfgdioRla fEU=IRT U410 dTed 3118,
I1. ITHO1 YRATd JoyiHed) gRe fAudTe g dled 317G,

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
I. Cases of domestic violence against women are increasing in rural India.
II. Alcohol consumption among men is increasing in rural India.

Gl 59 e Dl i il | sl 11T 58 bl om0 o 58 50 I S s 30 e b cilisas o))
OV Al S a8 K 2 S (S Alad sl 5y Slily (5isa o S 5 51 1S 2 a5 (s SO s (e iy
= B8 s e S S (3l e 3 S il (530

Sl
| — = Lse adlal Gpe ciladl s S o sl 58 (il (ne g s80le o S L
-2 b 52 adlal Gae (oiish Dl G ae 03304 03 05ke (od S LSl

AfIY | HROT 3T 3107 AT 11 = g 3ie;
A.Statement | is the cause and statement Il is its effect;
A, s Ol | e Gl sl s - = AV S Gl

B.faym 11 HRUT 3R 3T faem | e ufkom SR

B.Statement Il is the cause and statement | is its effect;
B.osi Ol Il i Gl ol 2 mas |- = SV S Gl

C.faum | 37for 11 Q6T T FRO 3T

C.Both the statements | and Il are independent causes;
C.owd Sl Gsisa | saad gl 1o Shosa s 2130

D.faum | 301 11 ST Wada BRI URUMH 3HTed:
D.Both the statements | and Il are effects of independent causes;
D. st Sl G553 | el sl 1l - 81 S g g ol
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Answer: B.fa8T 1| SRUT 3118 30T faem | e ufkoms 8ie;

Answer:

10

Answer:

11

B.Statement Il is the cause and statement | is its effect;

B.owi O [l ssed Gl sl 2 mas |- = A1 S Gl

Wit Y Req IO ?
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Out of the given options, choose the one which is the correct active voice of the sentence given below.
Are stories written by you?

A.Do you write stories?

B.Did you wrote stories?

C.Have you written a stories?

D.lIs stories being written by you?

A.Do you write stories?

faemata gy 71 7 fawRid 81 wear

The trait of honesty in students can be developed through—

SeSaela (S o pd S 85 (S Guanad (S )laila) (e gsale -

A.31=TT YT TeTe el qrdwi-d {3l &8 3ot -

A.Giving group punishment to such students in a school’s public places like school assembly etc.

Ao 5 haan) JsSud e L 13 iy sds (alse S Sl S Gsale il S =5l .
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B. ST g A =1 Faifdd T I & Afds T-iad arefao!
B.Highlighting their morale by telling moral stories related to the greatmen of the world
B.luy S8 JLBI S QI s S ol S U (lS BDA) Blate s silail aalae SLa

C.3MUedT Jafdad SiaATd FiTel 30T WA I g JHR Udh SaIex0l adR HR0l

C.Adopting all pious and honest measures in your personal life to create an example
C.Lly) S clalad) jlailadl ) o sSas palas A S 558 oy Jlie Sl e (S 5313 4

D =T ShaHTd el 701 YefRid HRum faemafn sfér <o

D.Giving rewards to such students who have demonstrated this trait in their life
D. = S s _lae IS cunala Gl e (S8 (Gl 5 Usedn L plad) € sale il S = 5l

Answer:  C.3TUedT dufdad Sita-Td aiTel 0T TG IR o THR Th 3&Tex0l qR B0l

C.Adopting all pious and honest measures in your personal life to create an example
C.Lly) S clalad) jlailadl ) o sSa palad A S 558 Jay Jlie Sl e (S 313 4

12 e @reh faaa uy aul Arfibar SmeTid 3Med. a1 Ude Hifeldrd, BTl 31eR 8T 3Med. Ig Uaig
st urar Uer 31 31eR 8T 3Ty, Hifeidbdid Jacd Urd 31eR fAast

A---EAB-D-B--B-

DIRECTION: Questions given below are based on the letter series. In each of these series, some
letters are missing. Select the correct alternative. If more than five letters are missing, select the last
five letters of the series:

A---EAB-D-B--B-

sl G R i S U o2 Cipa S e . o eilie  om Cios EVlgs 2 3 s Culy
= Sasoa mh s al

A---EAB-D-B--B-

A.BCDBA
A.BCDBA
A.BCDBA

B.BCDBE
B.BCDBE
B.BCDBE

C.BCABA
C.BCABA
C.BCABA

D.BCABC
D.BCABC
D.BCABC
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Answer:

13

Answer:

14

C.BCABA
C.BCABA
C.BCABA

TeRh, REASR, dHTHS § T aREH AT i 3gd
Sailors, Painters pilots, come under people who are blessed with

= W35 o i O i O i SO0 o) iy Sy 3

A 3R Jafdas

A.Interpersonal

A Jis Tl

B. Y gfar

B.Linguistic intelligence

B. cwid JL)

C. i g

C.Logical intelligence

C. wild ik

R CEAPURER|

D.spatial
D.culE JlSa

D.3{aH RS el

D.spatial
D.culld Slsa

=T fecrean aRidaT 2915 (HaE) AT H1hdl M= Fer,
DIRECTIONS: Find the odd figure from the given four figures.
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%6.

A

.3;1

A
A. (A)
B. (B)

C. (C)

C

D
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Answer: B. (B)

15 WD S ATH B ?

AT IR TdGR SSAYl Tl 313

BT a1 ATddd 34 Huflg! Tagd.
C. T HTHTd TR GY Al g,
D. T fRigror fasaud gimer Hifgd el

Answer: AT IR FdGR STS[AYUT Hedl TSI,

16 1 M. IR HH1 STdidbs dadt 0T STURE! 12 T, rcrall. 8T ol STdidbs desal 10T 4 T, TTeie.
3Tt <t gd = gar v 3iTe. fam Siuan vary sivren fa= g dHar?

After walking for 1 m, Meena turned to her left and walked another 12 m. Again she turned to her left
and walked for 4 m. Now she is travelling in East direction. In which direction did she start her
journey?

1 =i qils (il oy ey - o ls SE S 12036 sl - 2 e Je cils (il i lae 2 S il S5
e LS g oo i Wyl (e o 5l - 2 () S L s (S @y 0l - o la SO e g )

ATRH
A.West
A2 e

B.d

B.East
B.3.rw

C.3MN
C.North
C.dwi

D.Gf&mr
D.South
D.wss
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Answer:

17

Answer:

ATRH
A.West
A2 e

BN NN REAE Y BRI ECA RN
VS H TN ATSUNHED DIV Weg AT TS T?

a) Propense

b) Prophet
c) Prong
d) Propine

~ o~~~
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Aiguft &

DIRECTIONS: Arrange the following words according to the English Dictionary.

In dictionary, which word comes fourth in arrangement?

- S e S BB 3 s aie Bitdae S sl 5 K il

T8 Ly —isn Ladl L oS (e i i e e 3l

A.Propense
A.Propense
A.Propense

B.Prophet
B.Prophet
B.Prophet

C.Prong
C.Prong
C.Prong

D.Propine
D.Propine
D.Propine

D.Propine
D.Propine
D.Propine
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18

Answer:

19

A. 20

B. 17

C.25

B. 17
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T I A STAIh g 13 T HHIBIAR R Joldidb g 17 AT HHIBIAR 5. aR d THUT feht gl
3{Tgd ?

In a row of children, A is 13th from the left and 17th from the right. How many children are there in the

row?

o S (S s A o e S o S e 17— s i) 20513 sl ke

A.30
A.30
A.30

B.29
B.29
B.29

C.32
C.32
C.32

D.28
D.28
D.28
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Answer: B.29
B.29
B.29

20 ST ot I G} STAedT TdH STRATIAT SUfRITd 3 aNTdTd, degT STI0T 31=1T Jarel
UITeh -1 BT SUTT AT ?

When a child exhibits aggressive behaviour in the presence of new-comers at home, what would you
suggest to the parents of such a child in order to give some remedy?

Sy S e A Sede Sl Sl 5o b8 LAl as) Al e (Sasnse S s S 50 S e
§ K neailsS

A UTEeh 1=t GeTedT ST dedt JaThs gared dhal T TTa! i1 HIvmar
A.The parents have badly neglected the child during his upbringing, therefore they must pay for it

A= Gosra b S Sl A S Gl ol 130 o WS lail Gl m s S a0 s S S8 Gl S ol = ol

B. OIS ST GaT THRIE A ST YUl Yad el Uligol 3101 AR Slel 3T HRU Y=
ERRIEE

B.The parents should attempt to know about their child’s basic problem and begin some remedy
accordingly

B. e LS g ssdglle a8 Gihe S (ol )5l s U S (88 (S ils (e o Jb S Al (60l (S ) S il

C. 3T AT THRT T1 37 AISAUgITS! UTadhi- SR e el Sral

C.The parents should consult a counsellor in order to remedy the child’s problem in real sense
C.labSo e w pda Sl S Gpally 1 S S da 58 IS (S a0 e Sl B8a

D.3SafSaiH! GaATel =M YHRd I 1! ¢S HIal, FiH 538D d A INT01 GURS [ohal
D.The parents should penalize the child for showing such a behaviour, gradually child may modify his
behaviour

D. = S S (Lo (aa sy il aa el Al o Sla Wa ) e S s A S LB S gyl S cpall

Answer: B UTA®IH! ST GATedT GHUSE SITUH YUgmEl Uad dhall Uifgs S0 AR $lg! SUR HR01 &
o ISl
B.The parents should attempt to know about their child’s basic problem and begin some remedy
accordingly
B. s LS g s 5b zile ¢S Gillae Sl gl s BS (S6S (S Sils a2 b S Albe ool (S a0 ) S il

21 IO Iud<l Il (Kussisss sifuuami< o ) ot Weliaue! T Jed faRivdT o -
Which of the following is the main characteristics of a standardized Achievement Test?

Tm o OS2 ~a ke Cilpa gad a) (S Culf il (5 lna
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A fsgerar
A.Objectivity
A puata

BT

B.Validity
B.cull

c.fayg=adn
C.Reliability
C.a8ain

D.a¥d 9d
D.All the above
D.olai o) S

Answer: D. 9 Id
D.All the above
D.olai sy Ske

22 SIfYHUUT a7 YecTar favgrdf Trsg Hiurar 2

Answer: B.UTHTOIG YO

23 T snfor Hi=r = 7R 4:5 91 YHIUMHS 45 JHTe drel.

Divide 45 apples between Heena and Meena in ratio of 4:5?

S S prall (ae il S 4:5 S 45 ey Sl sl Us

A.15, 30
A.15, 30
A.15, 30

B.5, 40
B.5, 40
B.5, 40
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C.35, 10
C.35,10
C.35, 10

D.20, 25
D.20, 25
D.20, 25

Answer: D.20, 25
D.20, 25
D.20, 25

24 G A 8AhS Bl 225 : 256 TT UIRRIG 3Ted. e IR UK &1 $-a:

The areas of two squares are in the ratio 225 : 256. What is the ratio of their perimeters:

¢ = WS el IS Adala)_Sal . 256 1225 el IS ad ) S o e 50

A.225:256
A.225:256
A.225:256

B.256:225
B.256:225
B.256:225

C.15:16
C.15:16
C.15:16

D.16:15
D.16:15
D.16:15

Answer: C.15:16
C.15:16
C.15:16
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25 e @red Arfdrehdia 8T 3T TN

A8
A8
A8

B.6
B.6
B.6

C.19
C.19
C.19

D.7
D.7
D.7

Answer: B.6
B.6
B.6

26 A BT B U&fT gIe T 3T ST B 8T C U fawe TfadM 8118, ¢ §R 1/2 dRiiHed UR Sreial Uar 81 A
R Pl dBAUR B .

A is twice as fast as B and B is thrice as fast as C. The journey covered by C in 1/2 hours will be
covered by A in

AB s = ) 388 B C = ki 5 W (8 e C i WO LSl s 13681/2 o il (S Ane iy €
'Lgé)sc"’

A5 fafae

A.5 minutes
A5 Cii
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Answer:

27

Answer:

B.15 fafae

B.15 minutes
B.15 i

C1d¥
C.1 hour
C.1 &

D.1.5dN
D.1.5 hours
D.1.5 ¢

A5 fafae

A.5 minutes
A5 Ciia
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SR U1 9fTe e, URIadr MR Bed, JMU-R WIeeR Bed, WeaRdl Ug! Bed, Ugiar Yt

Tged. TR Ul Sl HRUGTHIS] Wit eludht g aTuRe STd?

If pen is called pencil, pencil is called sharpener, sharpener is called eraser, eraser is called scale,

scale is called geometry. Which of the following is used for sharp a pencil?

A 5 s LS (05 siansen) ety ele S Ol e sl Olise 58 e i 58 G5 o8 e a8 S sy ¢ o LS Jusy S 8 R

vdUhhsdw\QS:‘u%‘dﬁdﬁjmg‘xéc‘ﬁ‘_ﬁ

AU
A.Pencil
Ay

B.RMUR
B.Sharpener

B.i i A
C TSR

C.Eraser
Cow

D.Yf¥rait

D.Geometry
D.G i) mas ole)

C. @ISR
C.Eraser
C.ow
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28 WU BT Siie! B Ay ArRIHE AdTd?

Which one of the following pairs belongs to Cartilaginous Fish?

$ o e e 6 S S G S S b e 555 did e aie

AT 30T g1
A.Shark and Tuna
AL 5o S

B.XMdh 37107 RER
B.Shark and Stingray
B.. S sl S

C.Xhay 3oy fgean
C.Skates and Hilsa
C.ludy 4 pasl

DX 3o sd
D.Ray and Eel
D.& sl e

Answer: B.2M 3foT fETR
B.Shark and Stingray

B_L‘)ﬁm‘)"\ L_<.Jl.5a

29 THER T Year AT Teg Hlvrar 2

A.THSY

BT
C.UmHc!
D HSdaR

Answer: C.Hﬁ??@ﬁ
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Answer:

31

T AT ol Heddh T,
24.6, 14

Find the median of the series:
24,6, 14

B s (0te) Jauss) 1S s 2 0
24,6, 14

AA13
A13
AA13

B.14
B.14
B.14

C.15
C.15
C.15

D.18
D.18
D.18

B.14
B.14
B.14

ST SIfOT HIFRAR fafRrse geHds RIF 3o

Special constitutional position of Jammu & Kashmir is:

2. = s ) apad € uadS 5 sen

A T W Af9eH 3MTg.
A.lt has its own constitution
A oy oA S G

B. I ad:d Tfay™ gl
B.It has not its constitution.
B. C_‘Wu.u\u\ 24 S Ll

C.d YRR ST aR 3R,
C.lt is above Indian constitution
C. = o) = Ol Sl

GET IT ON
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Answer:

32

Answer:

33

D. 4R $HTel AR ATg!.
D.Indian laws are not applicable.
D. t s o SY 0l 8 S,

AT W3 e 3.
A.lt has its own constitution
A ol b aa Sl

GET IT ON
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Uoh a1y Gidsfde YA, SR MYSTERY 8 XsG ZLFGREL 34l Heata ol Sild 3¥d, PURSUE g1

eg, AT U HIT Hedg bal oled?

In a certain code language, if the word MYSTERY is coded as ZLFGREL, then how is the word

PURSUE coded in that language?

il R e () oS et (o sase So) MYSTERY 8 ZLFGRELL (e () ol 58« il S PURSUE

8 AaleS) s

A KFIHFV
A KFIHFV
A KFIHFV

B.CHFEIR
B.CHFEIR
B.CHFEIR

C.CHEFHR
C.CHEFHR
C.CHEFHR

D.CHEGIR
D.CHEGIR
D.CHEGIR

C.CHEFHR
C.CHEFHR
C.CHEFHR

WTeiteie! BT Jeai=a gaid saes 3MR?
Which among the following is closest to Earth?

f o B S ) s o e e e



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

AgE

A.Sun
A zoss

B.d%
B.Moon
B. akx

C.YddRT
C.Pole Star
C. o)l ulad

D. XA

D.Saturn
D.da)

Answer: B.dg

B.Moon
B. xils

34 o3 Y
1575 + 2747 + 5399 — 2646 =7

Simplify:
1575 + 2747 + 5399 — 2646 =?

ol Clul:
1575 + 2747 + 5399 — 2646= ?

A.7075
A.7075
A.7075

B.2541
B.2541
B.2541

C.1235
C.1235
C.1235

D.1245
D.1245
D.1245

Answer: A.7075
A.7075
A.7075
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35

Answer:

36

T GIeitd Uy feden maieyd efid sfeR/Rsa/Red Fasr.

il dR

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

ELECTRICITY: CABLE ::

JuS 1 S 3

A faaTT: 3rrepTar
A.Airplane: Sky
Aenl s S

B. 30T : 37t
B.Heat : Fire
B.S: X

C.8dT: udr
C.Air: Fan
Clsy s

D.4roft : arfe-
D.Water: Pipe
D.b iy

D.qruft : arfg
D.Water: Pipe
D.&h i

‘é\iﬂl IR AT
While walking through the Zebra Crossing

i Cﬂ? ] &"“\)S 1w

ATYT ISdidhs IO AR STdidbs UgTd.
A.First look towards right and then left.

A 68 il Ul gy sl il o8l
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Answer:

37

Answer:

B.UYH T UgT IO T Ioldidrs UgTd.
B.First look straight and then right

B.xils ol . J}‘ U@J C"“L"‘ éﬁ

C.9YH Sidiehe UgTa 3for 717 Iediee UgTa.

C.First look towards left then right
C. 265 s Gailg o) il b

D.UYH I UgId I Sdidhe UgTa.
D.First look straight and then left
D.cuils (il e ) Sy el L

ATYH Iodids AT R STaiwe Ugla.

A.First look towards right and then left.
A SeS cils (b e o) ils Gl g,

-E ﬂ . .ﬁ 311%
Heredity is associated with—

= Gl S e

A 31T dTgdh
A.Genes
Al > (Fsose

B.Hifde TaT

B.Physical structure

C.HHR® UTdes!

C.Mental level

D.IRRIE

D.Physiology
D. b

A.S{TIa Il a8
A.Genes
Al Sy

GET IT ON
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Answer:

39

AU g I Y 3R-

TAT is a short form for

-

‘/__)di&)mﬁud,g\cﬁa\cl

A.TIYURHE ¢

A.The Apperception test
A S 5iiS

B. 4Tt TuRITRH
B.Thematic Apperception
B.osfS syl STlags

C Idmuaiidicgsce
C.Thematic Aptitude test
C. i o il SSlagd

D. TIRUURA ¢
D.True Apperception test
D. ol (sl oyl 2 8

B. e TuRIuRA
B.Thematic Apperception
B.osiS oyl Slegs

IEININICACECANNIRSYGIN
Mithila Folk Painting’ is popularly known as

dU\;U\;#J}Le\.ﬁ:'ﬁ:ﬁd}lM

AJRSHT
A.Warjli
A s

B.HaMI
B.Mandana
B. bl

C.aYsH!

C.Madhubani
C. s

D.3{cY-T

D.Alpana
D.u

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

Answer: C.Hiﬂ:ﬁ
C.Madhubani
C. s
40 SR T HHARAHS Bl

Beriberi is due to deficiency of

§ o Uisn o (oS (S an S e o s

ASa9d —B6
A.Vitamin —B6
A..<55—B6

B.Sg9d — B12
B.Vitamin — B12
B.o<bs—-B12

C.Sfla 9@ - B2
C.Vitamin — B2
C.c»55-B2

D.SId9d — B1
D.Vitamin — B1
D.o<b5 —B1

Answer: D .SffeT9d - B1
D.Vitamin — B1
D.o<Gs —B1

41 y2 — 11x + 30 = 0 T FGHIDHRUMH! He5 3T

The roots of the quadratic equation y? — 11x + 30 = 0 are:

S5y =S &l slse w30 y2— 11x + 30 = 0 L
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Answer:

42

Answer:

C7,5
C7,5
C7,5

D.8,5
D.8,5
D.8,5

B.6, 5
B.6,5
B.6,5

TTeAUD! G X DI0TAT 2

ATRard
B.FTsiel
C.9fay
D.dgre!

B.dqdad

GET IT ON
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43 T Squl U Fafor HRoarret, @re faaet (P), (Q) (R), (S) 30T (T) B U a1e’ arg SfIehHM
TAREHT R TR ATdrd 9! SR .

P. 3O SRTAT HIT U, "H T Sed™ HudT Adl Jrg- 2T o1 #t o< 1! SHTHmT A6l
Q. BTN HIcd! TEUTeT," TRl Sl SifReaTd Tegdl AreamTa! A Afdd wraer # 9suR aE"

R. % feasht, df Bad Ue Sl AT IHhsdl.

S. ThHI3] T SIS gidl, Y UhSUaIaR IR Ief-dlg Irad 3.

T. A G6T A4Id e < SATior it a1 SR Adll 61 Udhs STl SRd U $HHd.

g HeHdR WTaade! HIud ared ufgd 3Rid?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.

P. The fish, in its desperation to live, said “Please leave me as | am small and of no use to you.

Q. The wise fisherman replied, “I will not give up a certain profit for one that doesn’t exist yet.”

R. One day, he was able to catch only one small fish.

S. There was once a fisherman whose livelihood depended on his catching of fish.

T. Let me back into the river so that you can catch me again and make more money when | grow
bigger.”

Which of the following should be the FIRST sentence after rearrangement?

ostes &b o) 1@y (P)e (Q)¢ (R)¢ (S) L (T) sVswe =8 23 i ey ¢ mad i i Jlss A S iy |y siea b S
Rl S

P. U5 0 S S (S S 5l U Tsen 0a) AS 0S50 Tsen e S S (b " LS e il (S o) 2 lena,
Q. Ko 568 (o i Hoie Sl aa ) o Il e " L Ol o) seme 2ie e,

R s GlalS (e 235 e (Sser S (IS 55 00 S

S. W Dl 35 eae 550 S Lol seme SOl LS,

T i 5 63 U o sy i o3y sl 5550 0 sy gma al SB 53 JIS Gl s Gpe b )0 g,

bl Jodla lhgSam S S is s

AS
A.S
AS

B.P
B.P
B.P

c.Q
c.Q
c.Q

D.T
D.T
D.T
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Answer: A.S
A.S
A.S

44 fcer. AnfereT guf &
AE, FJ, KO, ?, UY
DIRECTION: Complete the series
AE, FJ, KO, ?, UY
58 daSe Sz ol il

AE, FJ, KO, ?, UY

APT
APT
APT

B.PS
B.PS
B.PS

C.PU
C.PU
C.PU

D.PR
D.PR
D.PR

Answer: A.PT
A.PT
A.PT

45 PR Y1 a1 AT 2Weg HIUT 2

A BTGB
B.Rd

C.URIad

D. &4t
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Answer:

46

Answer:

47

A PICHS]

T URT A, B 31101 C § THRHINET T eTd! 6 ardid HRdTd. 2 Y Tha B1H dbeddR C §¢ bal Tdl. A
3O B 3 IRATH TThT 8 AT HIelt. Udhedl Uy C gR T HRUITY ANTUIRY des:

Three pipes A, B and C together can fill a cistern in 6 hours. After working together for 2 hours, C is
closed. A and B fill the remaining cistern in 8 hours. The time in which the cistern can be filled by pipe
C alone will be:

G oS A B Uy Cam S S 8 Sde E8 2. 0m S e e 058686 S SESY KU C-WE A Lyl
B il -0 =5 e e 0588 8 S (S L S Je C 0 S S e S) S S Gl 8 g S 0 iy WS S

A. 11 dY
A.11 hours

A1 S

B.9 dI¥H
B.9 hours

B.9 S

C.12dM™
C.12 hours

C.12, 5

D.10 d¥H
D.10 hours

D.10, 28

cC.12d™
C.12 hours

C.12 5

DHIUTT S GRIT ST SR SrgiHed USa?

Which country falls in Europe & Asia both?

= U e Ui Ll gl s S Lia S

AhTg
A.France
Al s
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Answer:

B.IN

B.Greece
B.ou S

C.dfcram
C.Belgium

C.anln
D IR

D.Russia
D.osu

D IR/
D.Russia
D.os)

GET IT ON
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48 4.5% U a8 o5 ATl T &M 5. 450 TT IhUR . 81 AT (B quarTat fbdt a8 anTaia?

How much time will it take for an amount of Rs.450 to yield Rs.81 as interest at 4.5% per annum of
simple interest?

81 08 Ky WS Gaa g0 s s 450 4y )2 S 4,57 adlie Cafny g

A.3.5dY

A.3.5 years
A. 3.50w

B.4 a8

B.4 years
B. 4JL

C45d%

C.4.5 years
C.4.5Jw

D.5 %

D.5 years
D.5du

Answer: B.4 %
B.4 years
B. 4w
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49 THPAAUUTAT AMUNages daR daiedl SggTel T

A group is kept by the feeling of togetherness is called as

R v I S P | PUTEC RS QR IVEN S SLNPOL NP

A TR

A.Socialization
A8 zlew

B.®Talg! 3

B.Whenever
B.«S «> (Whenever)

C.ArsfeT

C.Modeling
C. &8 5

D.gdlg
D.Interactions
D.~k s duail

Answer: B.W 3

B.Whenever
B.¢S > (Whenever)

50 Uonl Y-l '{‘Iq\ﬂ M e T=d 1Y S 80 cTel- YUl Uch JREA (j,d’S?JIJ-I‘fLI CARRRIK] &ﬂ%

AUl Tacd 9 deX Sed fbdl a8 g s SHed?

A cube is painted and cut into 80 smaller but identical pieces by making the minimum possible number
of cuts.
How many smaller pieces have exactly three painted faces?

O e 5 e oin S, g BT ES (e oS oS S WS S 0 Ko e 035 80 s S S 5SS
R 0n oS, Aeld S

A12
A2
A12

B.8
B.8
B.8

C.36
C.36
C.36
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Answer:

52

D.24
D.24
D.24

B.8
B.8
B.8

o= Teerear waimgs 4ot qof sondl ey e faast
DIRECTIONS: Conplete the seriesbv choosing right figure from the given choices.

S Jee 6€ s S S sl S S pmen e ol lisl B D tobly

Problem Figures

eftelb el Vel

1 2 3 4

Ssfesieshes

| ]
(A) \B) € (D)

3{IhH: 5,10, 15,............. < 9d Ug YT
Find the 9th term of the sequence: 5, 10, 15,

15,10,5:% 2 WofGssd Szomod, ...

A42
A42
A.42

GET IT ON
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Answer:

B.45
B.45
B.45

C.48
C.48
C.48

D.51
D.51
D.51

B.45
B.45
B.45

GET IT ON
Google Play

feeiell srgamaad : fag - S1fiT x, T 3Mhs 9 M 15; AR 15+ 7 + 7 x 4— 9 ° eI fobett ?

Given interchanges: signs - and x, and numbers 9 and 15; then the value of 15+ 7 +7 x4 -9 is

= a3 SO -4 X7 +7 + 15 5415 5519 s Hs) ex gl - Gldle 1 ol K

A.50
A.50
A.50
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Answer:

Jford ¥ 8 TReTd g

Satyaijit Ray was an eminent —

Do SOl 4y Cus s

ATED
A.Author

B.fmue farexie

B.Film Director
B.om U8 culy b

oS A KA
C.Both of the above
C.uss0 o5 S

D T} BIvIag el

D.None of these
D.ost GsS — pedl

C.IAUB! aral
C.Both of the above
C.usisn s =g

GET IT ON
Google Play
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55 T iUl Ui FHafor HRogrret, @ faaet (P), (Q) (R), (S) 30T (T) 8 UM a1e’ Ay SfIehHM
TAREHT RT; TR ATdrd 9! SR .

P. 3O SRIAT HIT U, "H T e HudT Aal Jg- 21 o1 #t o= w1l SHTHmT A6l
Q. BTN DIcd! TEUTeT," HTaToRld S 3ifRaTd Tegdl AreamTa! A Afdd wraer # 9suR aE"

R. T feasht, df Bad Ue Sl A1 IHhsdl.

S. ThHI3] T SIS gidl, Y UhSUaIaR I Ief-dlg Irad 3.

T. A G6T A4Id e < SATior it a1 SR Adl 61 Udh e STl SRd U $HHd.
TTREA HedHaR WTatadd! HIvrd arad oy srye?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.

P. The fish, in its desperation to live, said “Please leave me as | am small and of no use to you.

Q. The wise fisherman replied, “I will not give up a certain profit for one that doesn’t exist yet.”

R. One day, he was able to catch only one small fish.

S. There was once a fisherman whose livelihood depended on his catching of fish.

T. Let me back into the river so that you can catch me again and make more money when | grow
bigger.”

Which of the following should be the THIRD sentence after rearrangement?

ostex @b O iy (P)e (Q)¢ (R)e (S) ush (T) sl =8 2d 2 ey e ima i iojligs A S il )y Jea b S
s S

P. U3 03 S oS (€ S o) 0o (sen 0l AS UsS 59 T —ene S S by US Gae Cals (S 0 5 e,
Q. Basn 58 (o i oie o Sl Gaa L o el 52" dbd Clsa 5 2l s die Jie,

R. s LS Gae 5350 eae (Ssen Sl A 55 00 S

S. L Dl 3550 ene 5550 S Ll o) seme SOl L S,

T. Sl 63 U o 3l i odl) sl 55380 e Jlsd gme al (SU 53 IS Gl s Gre L )3 —ea,

¢ ula Lign |yt alea L 9 2ay S 53 i o Jlasd

AP
AP
AP

B.Q
B.Q
B.Q

CR
C.R
CR

D.S
D.S
D.S
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Answer: A.P
A.P
A.P

56

Answer:

57

Answer:

V49 =7

B. 1
C.7

D. 14

URAT DI TRTUIAAT IS TRIUd 1 U 3Ncsw Sild?

Which expressway is known as National expressway 1 in India?

follalla p osh ST 45 Guomsal didss (e Gl o5 pupesl L (S

A.3BHGIEIE J8Ia:T UaUNTd
A.Ahmedabad Vadodara Expressway

A_ L}U“H‘):“"S‘ﬂ‘ “)J‘;.SJJLJAAA‘

B.fa el SR TauRa

B.Delhi Jaipur Expressway
B. £ 5 0uossy) s > o

C.faeh TSTa Trud

C.Delhi Gurgaon Expressway
C. e wuopSa) 0388 Lo

D.d%c TaUId

D.Western Expressway
D. o5 syl (%

A.3EHCTEIG d8IaxT TaRIbNId

A.Ahmedabad Vadodara Expressway
Al s GuomSal 150585 20 aas)
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58

Answer:

59
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A 30T B ST 3Mgd. X 30T Y UG, 3MTed. A 8T X T 4TS 318, A Y 301 B T ATd Hra?

A and B are a couple. X and Y are brothers. A is the brother of X. How is Y related to B?

A)J‘deﬁﬁ.XJJY(_—Jé‘L@—.‘éL«—.‘.XA:@L«—J\S.Y\SB?L«—'\&J‘:‘S/_—“

AHTS
A.Brother
Al

B.Sas

B.Son-in-law
B.alla

C.¢aR

C.Brother-in-law
C_J\},}J

D.He
D.Son
D.&u

e

C.¢aR

C.Brother-in-law
C,‘)\}-}J

S0 Urstadr, € 3fes e gl vl ea.

When sending an e-mail, the line describes the contents of the message -

= Y s S Ol S Ase S play (s gy die ) S

Afawg

A.Subject
Ao

B.dl
B.To
B.s

C.HSIDY
C.Contents
C_.\\}A

BRRIE
D.CC
D.ox o
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Answer: Afawg

A.Subject
Ao

60 faum:

P B
|. Aeq RH Wedied] AIhi[a%g PSR HRATS Hal TR,
II. HHSTET AT HIUTAT AT 18T SUarTat Th HIael Sl Uifgul.

Statement:
Insults to national flower of India are increasing. People have started eating lotus stems.

Course of actions:
I. Strict action should be taken against people eating Lotus stems.
II. A law should be made to punish people insulting lotus

.Lu.
IR,
ol S st WS S gl 5 Rl s bl e e (S s oa s S L

Jac ~aiY:

l- s Sl (S AoS i adla S oRd Iy eSS La,l.
[l Ul Wl 058 0 S a1 3m S &80 5 58 S o S ol

ATE | T 3R
A.Only | follows
A ] & g &Y

B.Tad || 3FJARUT R 318
B.Only Il follows

B. Ciya Il £ 5 &Y

C.UHR | fobaT I 38w 3

C.Either | or Il follows
C. Ll & 5 &Y S s e

D.| 3T 1| P BIEIE STHRT B ATt

D.Neither | nor Il follows
D. 1 usl -8 5 (s SY e 558 o e

Answer: DI fdaT || SFEIUDT HTEIG! SHTERUN R ATal

D.Neither | nor Il follows
Dol usl -8 5 (s SY e 558 e
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61

Answer:

62

Answer:

A coneis a -----

IS (o] [-) [ mm———— S

AFIAd 3Tpal

A.Plane figure
A5 sl

B. &Y
B.Curve
B..2

C. ¥4 3{Tpal

C.Solid Figure
C.J5a s

D gids! Biurae et

D.None of these
D.oy &S

C. ¥4 3Tl

C.Solid Figure
C.J5S Lused

feorear Terdia g &dr f«idast.

Select the missing number from, the given responses.
RS s e nseS aa L& el S o

43

25

i

21

40.

35

35

L)

28

A. 36

B. 46

C.40

D. 26

A. 36
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63

Answer:

64

ARSC TRNRC YT 9aid 3ed Uad 31Tg. ATd Jdid 3<d Tl THEAaa T ............... R 3Te.

Mt. Everest

e R =)

A.8848Ht,
A.8848m
A.8848 fin

B.18888 HI.
B.18888m
B.18888 fiw

C.8000 HI.
C.8000m
C. 8000 jiw

D.848 Hi.
D.848m
D.848 i

A.8848HT.
A.8848m
A.8848 ji

is the highest mountain on Earth, its peak reaches ......... above sea level.

.......... :ﬂ)mchaéﬁéu»\djlﬁlejj\:a\_m#@m)‘dujﬁ\iﬁju

G feretean qargiHys THTeiT Res s,

3HTe=n
DIRECT

Ammete

Yay fagad UargrIad 3HTg ST ddeiHiel Hay ... died 3Tg.

IONS: Choose the analogous word from the given alternatives.

ris to Electric Current as Lactometer is to

WS &_I\ALHS.LSSLBJ\LAC“JJ\ASACSG\J bl

--------- B e g8V Sl o (2 by gile Sl 3 1S Sl

A TG THET0T

A.Amount of rain
Alae S G Hb

B. g Yl

B.Purity
B. 2k

of Milk
S A3
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C.argal °ar
C.Density of Gases

D. 3= dIUH
D.High temperatures
D. ~ aily

Answer: B.'g,,’?ﬂiﬁ Rexd
B.Purity of Milk
B. &b Saag

65 T Bl YUIR ATaT 3T -

B.3FHIA

C.3[T8dd

D.3ffaged
Answer: A.&W

66 DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most
similar in meaning to the underlined word.
The critical teacher was quick to censure her students for even small mistakes.

A.Criticize
B.Appreciate
C.Inspire

D.Encourage

Answer: A.Criticize
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67 T JMA TWRIER YD YR 10T J0H JMeld gR I TSR bl A3, Wabdl

Modern Indian education at the Elementary school level can best be described as being—

= S LS Gl s G i Sl sty s s (S ISl (S0 o e

A -

A.Curriculum-centred
Al e S e (S Glal

B.Uded-dhigd

B.Project-centred
Bt i3S pe (S Sl

c et Fiea

C.Pupil-centred
C.isisay Cu S e S 2 AL

D.fawg-dfaa
D.Subject-centred
D.sfire i CuS e (S g sease

Answer:  C.faenfi-dfea
C.Pupil-centred

C.isien K e S o ALS

68 ST U Hd AT HIGSTaRISR ST DHI¢fad Towt aRieR Hisdl. S0 a7 s 9y U el Y]
DHRUYIS] BT HIR?

Suppose a child quarrels with his siblings and family-members. What will you do in order to get rid of
him from this bad habit?

G A S Y e e Ciale (s 9l - LS 1 B il S OIS S A ) (sl i e SOV S (S a8
S mALS

A.3{=IT ARTUT TTeT STIUT RIS FHT HIAT ol RIET TTER B
A.You will declare public punishment for this act in school assembly
A S S el 8 el e S dee Gl e il J Sl

B. 31T0UT RMMesaAT HIUATe! HISUIT AT Ydh S UTal HId BRI WUl qraldl SUSTUl el SUHH
HRUGTT 3107 ATl ATBRUgTE Heft fesa

B.You will try to search the chance to capture him in any school’s quarrelling so that you will get an
opportunity to dishonour and reject him openly

B.ajiwe sl e o S JeS il Ql WS R S (58S (S BT wge 1S 35 ) s 2 Ben S S o (S Q)
Gl S 28
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C.3ATYUT fTRTaRN ATRT Sie YT ST 3= YHRY I g5 duRid [are

C.You will talk to him in isolation and ask in detail about such sort of behavior
C.. S G e el 0 2 S 250 Szob ol sl S eS8 S e Sl & s o)

D.3MTUUT 31U FTidIe blet 3o diiTa faemedf for Sater qmesan ST 3iig Afdias IaER0 43
Tl HHT TG el

D.You will demoralise him by giving the examples of some other good students of his class and the
school on whom the school feel proud

D.cd oS JUe (S sl Up 58 Gugmne DAS JSul y e n JsSd Gl sl Usale Qs _gal 2 jusngaS S IS (S Gl
S oS SSh dan SOl S

Answer: C. 31007 S{eTTaRIT TRt S XehdT 30T 3= YR dad Sed quRiid faare

C.You will talk to him in isolation and ask in detail about such sort of behavior
C..R e = doali ae o )b S ) Szob o o) S K& e Mg KU —w )

69 Wreiterde! gfce il 2req siiesw.

A FHIET
B. HI&M
C.gHleD
D .ot

Answer: C.gHie®

70 fedeaT samYA WIdade! BV sq IR BT SIS, JHdl?
MULTIPLICATION

Which of the following word can be formed from the given word?
MULTIPLICATION

€3 Sl Uy L 5S s (s o) U3~y e Jadl
‘MULTIPLICATION’

AMUTUAL
AMUTUAL
AMUTUAL

B.LIMITATION
B.LIMITATION
B.LIMITATION
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C.APPLICATION
C.APPLICATION
C.APPLICATION

D.NOTION
D.NOTION
D.NOTION

Answer: B.LIMITATION
B.LIMITATION
B.LIMITATION

1 Hawn: fedrean weEiAys Aol 9o S d@Ea AEdr R

DIRECTIONS: Complete the seriesbv choosing right figure from the given choices.

Ques tion figure answer figure
B[] GO
(4) B (© @D (1) 2) 3 (4)
A1
B.2
C.3
D.4
Answer: B.2
72
A .12
B. 20

C.29


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

Answer:

73

Answer:

D. 30

D. 30

Rieiepi=ar THRISHEN WUTHe SaegR! 3img —

Primary responsibility for the teacher’s adjustment lies with—-

= ot o) 5 aed ol ) S Cuidln 3 S Xl -

ATd

A.The children
A=

Bt

B.The principal
B.dps

R w@a:
C.The teacher himself
C.asA oy atiul

D.RieT uraid

D.The teacher’s parents
D.osall s S sl

R w@a:
C.The teacher himself
C.oa Gldy ol

GET IT ON
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74 T WA o UHHe Hiet AU 10T S1! FshY 3ied. TH=Td: 1 duaiue d vl SRidd av
fearett faem greTan I AmFdt anTdiier S1for IR feaied faemre srgevul fadeamie! siurr fssy

oC Y
dlfchpetedl Hdl o 3l

faer:
P=U<M<Ks<I>N
fepy

LMIl.K>N

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
P=U<M<K<I>N
Conclusions:

.M <N

I.K>N

e e il S @l s s Hshale SOl 81 G 3sa se il gaS ey S il g2 e J) s 3 aa paie 1l
sk alihie nai L oS W La Gae Jid S (S Aleasd 1S Gl (Gl e sl eS) o glar il R _a gl oo 6 1 i
= S oom S ity K s,

bl
P=U<M<K=<I>N
)

MK >N I

AR Bad | Fspy @R 3

A.If only conclusion | is true
Au)m)g\l 51&“)3/\;:\33

BdR 19118 deiel ey @ A

B.If neither conclusion | nor Il is true
B. RN sl 3 o 3 o B5S s e gl

C. R Bad Il Fpy WRT 3118

C.If only conclusion Il is true
Coraiti Gy S| = o

D.dR | fdha1 11 T} T FspY W7 3]
D.If either conclusion | or Il is true
D. S sl = o pd Sl s e S
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Answer: B.aR 1918 arglal Aepy WX 16l
B.If neither conclusion | nor Il is true
B. I Ul g o pn o B5S s e gl

75 “H} 3T YRAR-BIHS! WIeail.’ T AT [ARIHUT 3fiesal.

A
B. 3ol

C IR
DCAGS

Answer: C.IRIR

76 S 4 FEOIS - - FUTS X, X FUIST = IO = F{OISA L+ df 15%3<15+5-2=7

If + means -, - means x, x means ~ and ~ means +, then 15x3+15+5-2="

15%3+15+5-2=2 51 o+ clla+ o0+ dhay oy el o cdla+ R

A.0
B.6
C.10

D.2

Answer: C.10

77 i1 A Sl 2T TR ided 0T AagH SHDHR1eA1 RIFIER g, Y=l ga=a1 Tl f[dbry
GH AT IR el 0T RIdg IRTT VAR 35, Glvol INHS Thid fdbdl Gol 3igd 2

In a row of boys, Jeevan is seventh from the start and eleventh from the end. In another row of boys,

Vikas is tenth-from the start and twelfth from the end. How many boys are there in both the rows
together?

o A ) s 58 S5 e JUS (6 50 (S ST L 2 05k e JAT sl il w558 G e SIS (S ST
$ o Sy IS Sle ae g S Ugigd L el
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Answer:

78

Answer:

A.36
A.36
A.36

B.37
B.37
B.37

C.39
C.39
C.39

D T ATEt

D.None of these
D.us &S = o O

D.TTUp! ATEt

D.None of these
D.uos &S o O

Thehad PG BN
Blunted effect is

= ) hle

A TIBiddl HH HIGHT GRIGU)
A.Show less feelings than most people to
A GileSs clulial oS (e Die S o Sglealy) —woaly)

B RIRIRe AT BT &I

B.Show less symptoms of Physiological disease
B.osleSs cladle o8 S (5 lan (Slaws

C.(a) 3T (b) Trg
C.Both (a) and (b)
C.) us (") uss)

D.UTde! Uhg! ATa!

D.None of these
D.ow 82 &S = 02 O

A BTl HH! HIGAT SRI0N

A.Show less feelings than most people to
ALeSs lalial oS (e ae S oSl ealy) i ealy)

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

79

Answer:

80

GET IT ON
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Ha: TEerel 3edl Aol (R #ée) qof Suarmél, A, B, C. 310D I IR Saride]

DIRECTIONS: Select a suitable figure from the four alternatives that would complete the figure matrix.

s S on S b aen —w e Ol

=i 3 bl

9 PR, 2011 ol AMAR 3MTg, 9 TP 2007 il B IR 3HTA?
Saturday falls on 91" Sep, 2011. what was the day 9" Sep. 2007?

9 s oo L & S 2007 s 9 - = saviss € 2011 i

AXfdaR
A.Sunday
A s

B.XIMAR
B.Saturday
B. s

C.9HaR
C.Monday
C.ox

D.HI&dR
D.Tuesday
D. %

=S Jale 55
ol@|-
N
N

A. (A)

B. (B)

C.(C)

D. (D)

B. (B)
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Answer:

81

Answer:

82

C HHaR
C.Monday
C.ox

GET IT ON
Google Play

HwS die SRagH, 58 WU ot FRRRl 3118 3R, ST {1 e Ueparal YerT Mg, JT A sief

1d B2

Pointing to Seema, Hari says "she is the mother of Mahesh, who is only son of my son. How is Seema

related to Hari?

e Al WS s Slaw ol aal s € S s s s o o U S Ul 2 WS S0 S S o)Ll il (S lass

AT

A.Daughter-in-law
A.se

B.gsid

B.Father
B.cb

C.Ual
C.Wife
C.ssm

D.33adl YUIR T8

D.Cannot be determined
D.Us oxs ke

A

A.Daughter-in-law
A s

SR TSR fUeied Hregwl UeHHYd Th HTs HIGUANd 3Td, TR o Blead Hls olTd Ul

3Hd dTaidl e

If a card is drawn from a well shuffled pack of cards, then the number of favourable cases for that card

being a king is

= S s S il 8 Sl S Lol (e SIS Gl g8 o Bla YIG —w &8 8 3 7 5k en) SIS S R

A4
A4
A4
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417

Answer:

83

Answer:

B.6
B.6
B.6

C.13
C.13
C.13

D.16
D.16
D.16

A4
A4
A4

T fdedn Ty aTTes o STeR Hlel.
DIRECTIONS: Find the odd one out from the given alternatives.

s S U S S o e one Jaltie K1

A.ADBEC
A.ADBEC
A.ADBEC

B.FIGJH
B.FIGJH
B.FIGJH

C.KNLOM
C.KNLOM
C.KNLOM

D.PRTSQ
D.PRTSQ
D.PRTSQ

D.PRTSQ
D.PRTSQ
D.PRTSQ
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84

Answer:

85

Answer:

86

YR et Srearh wafd e gl

The lowest strip of the Indian National Flag is of

5, 2t S o e Sar 08 Gl

A gie=aT 3=
A.White color
A S5 i

B. BRI M=

B.Saffron color
B. &, 0l ke

ASEIRUIE

C.Green color
C. X5

D. |1 I
D.Red color
D. S,y

ARCIEUIEI

C.Green color
C. X

« HThigdied HRU! * T TR 34 B ?

A d JLNT BRI
B.UTfH® HHBIS HROI

C RrawfeRTa digaTa vl
D AT 3G 3MYC BRI

D I 3G 3TUC HRU|

Ry 1 e fawgrdf wrsg wiordr 2

GET IT ON
Google Play
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D3t

Answer: D34l

87 P R RS R R o ) | —— T $1.

A9d
B.S1d
c.giel

D.dR

Answer: C.GIal
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88 I : el YA UHTd & faem | 31fo7 11 fgale 318 d. & faum Udhdr ads RO 3Ry XdhdTd fdhal
AT HRUMY TRV 3 Wehdrd. Jite! Te faU SR faemran uRome oy Wl il faum arr snfor
FATAUD! BT IR UITT AT il [UTHHeNS Heeid I ol o oal,

ICEIGE
1. faemdiis iR Ul oot Al / ufiiemed 9d =i uRien 9uar orfad 318 Soiehs il dobd
fRTa 9ifvd BT A5

II. faediaTaThd JuaTd ST TR SURUAST durRun=a1 fRIgdb = HHARAYS drid S
fAeTa 9Iftd HRuard sRE A8T fade ST gid.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:

I. The university authority has decided to conduct all terminal examinations in March/April every year
to enable them to declare results in time.

Il. There has been considerable delay in declaring results in the past due to shortage of teachers
evaluating the answer papers of the examination conducted by the university.

Sl 53 e s o =28 1 | o) 11T 55k by o 8 00 -0 S5 5 1 S Slsns 331 e b Slsa s 313
O QA S Qa8 B 0 2 S (S abiad )5l a5y Gl (g o S 50 SIS 1 puasd (Ol S s (e il
= S il Saes S Glad e 0 S by g5

<l

| = WS Ahad 1€ 5 S dinia (e iz oo Jlas s cililaial Jine 5 ol S5 5 S (el 1S il Gy 5 5 onallail Sy s 5
=

| S g6l ne oale s nmns (S S (S odilad Iy 558 S a5 ol sn S Clilaial o3 Sainie _as Cijla (S A jsiis
= s ol S e OOle)

A TS | HRUT 311 31O a8 11 e uikons 8ffe;
A.Statement | is the cause and statement Il is its effect;
A s gl e gl sl o mas Il 2 A S G

B.faem 1 SR 3 3o ey | & uRome 3ng:
B.Statement Il is the cause and statement | is its effect;
B. st gl sed gl L) 2 s Lo S

C.faum | 3n1for 11 Q6T WA HRO 3R,

C.Both the statements | and Il are independent causes;
C. i by Gsiga | el ool Il o sy 31

D.faum | 3M1fOT 11 ST HTE! UM SR GRUMH 3fTed

D.Both the statements | and Il are effects of independent causes;
D.ed by isa | e sl 1o I8 S Cilisa s 31
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Answer: D .faur 1 3for 11 98 S1Et A= SR gy 3red

D.Both the statements | and Il are effects of independent causes;
D. sl il sisn | el s 1 o <l S Sligag 23

89 FAAT: WielTel T 3 3 T HIgd odrar TETRR TTse a9 A8, §A Hay aderear Hat
cifawar 38, Wi T oMl ER TSholel STHAT o1, T geed Sid e eed s, aed
T ATTAT T WelTel TeaedT SSaT =M.

DIRECTION: The guestion below has three items having certain relationship among them. The same
relationshipis expressed by sets of circles, each circle representing one item imrespective ofits size. Match
the items with night set of circles.

e L LSl BIRT iy e 5 S i Sl S 1 SIS BlSe e S T 0 e g b o ety
e gl 8 g St 3 oS 15 58 AT g S pRiled oS T Sl 0 Bl o s s

F6o % 6D

(A) (B) ()

Women, Engineers, Doctors
ELIHPUINE

A. (A)

B. (B)

C. (C)

D. (E)

Answer: D. (E)

90 Out of the given options, choose the most appropriate one to fill in the blank.
Babar Rana Sanga at Kanwaha.
A.defeated

B.have defeat

C.have defeated

D.has defeat

Answer: A.defeated
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91 YT TS URATA Ueh U@ fAURied IR faU™ 3igd Sai=arare! A, B, C 30T D 3/ 9R faur
3{TRd. HHAR faem Set st S wyd faum ga=n faumrer gaad, snfir 3t faum afbeesen
g faumred Afed s,

o S FR TTdd, ot WER fAuH Algd Arg!
A. TR &R araadr

B. fom &R Tradet At

c.  eer Fuw Aiga e

D. fom e’k e fFaw Asa

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If she drives car, she does not break traffic rules
A. she drove the car

B. she did not drive car

C. she does not break traffic rules

D. she breaks traffic rules

S 0sSes Shuie gpand o K 0 wal S 3 ) e o) daa e an S o alaa Sl e Jlse e il
op Githe S Ol S e e ea 53 sl by Se Ll Hg) (S ales o e alea Sy (b - i

S8 U 505 A (S ol B S 5 s 38 e
A 38 = ol

Bdls Lt 538 S -

CoS L s A (S il 8 Sy 5 3 ol

DS s <ada (S ol 8 Sy 5 3 ol -

AAC
AAC
AAC

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD
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Answer: A.AC
A.AC
A.AC

92 Wreiiauet gaid AeT Squifes e
Find the largest of the following fractions

GRS U S (630 o s 2 ) 9mS D a2k

A.18/40
A.18/40
A.18/40

B.36/78
B.36/78
B.36/78

C.14/32
C.14/32
C.14/32

D.7/15
D.7/15
D.7/15

Answer: D.7/15
D.7/15
D.7/15

93 Py arfte oyl ox Rispem () et @R Mg g oo B2 (390 MOE AFa orvand
wafea arfn)

DIRECTIONS: What approximate value should come in place of the question mark (?) in the following
questions? (You are not expected to calculate the exact value)

— 8 ST ks K L0 38 SOV Jlam o Jlam 03 Ariie sy

-

PR JUSP . QL LU TEDR S
44x4+7+/24000=?
A. 180
B. 250

C. 260
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D. 320

Answer: A. 180

94 =T WIelel TeAld Sealdrel ST Sivrear Tt dedia esrdie Hedl Adsd He?
DIRECTIOXNS: In the given question find the answer figure in which question figure is embedded.

S e JE2 g g e g S S8l s S g il s e L B e 1ol

1A “~

(A) (B) (C) (D)

C. (C)

D. (D)

Answer:  D. (D)

95 IO BIOTA AT FSTS, I AT YR T G d STHRAT gRidd?

Which of the following diagrams indicates the best relation between Sweets, Rasagulla and Apple ?

€ Bl i e o e S G sl A (leie al BLIS (o 055 s (e i) m e

(A) @o

O
(B) Oo

()
Answer: (A) @O
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96 AT, WHTE AHa Giofad e F.
DIRECTIONS: Find the mirror image of the figure given below.

oSy LS JE e adll WS JS8 B _hiy i oty

HET HFar
Main Figure

Sl s

aaoo
0088

TearaTe! IATdT ATFCAT

Answer Figure

Sl =

SR00/008E

0opyano
A B

@a
&0
|
=

o=

i
A

0
=)

Answer: A. (A)

97 e TelifeaeT SI&RTT ShHIT PTa! &R eI el 3Med o T ShHM Wiel [eciedT Gaiaiied! T 318
ab_da_bcda _bb_d_a_bccd

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in
that order as one of the alternatives below it.

ab_da_bcda_bb_d_a_ bccd

2SS e L) S Ja il (S SO o eadf a8 ae g m Cips S da Gl
ab_da_bcda_bb_d_a_ bccd

A.aabcba

A.aabcba
A.aabcba
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Answer:

98

Answer:

99

B.cccabb
B.cccabb
B.cccabb

C.cacaab
C.cacaab
C.cacaab

D.cccaab
D.cccaab
D.cccaab

C.cacaab
C.cacaab
C.cacaab

TEYSITAT 3R DI SRS 1260° T8, SgYSITAT STojdl W B 3HTg:

A. 28/13

B. 33/13

C. 15/13

D.17/13

C. 15/13

GET IT ON
Google Play

The sum of the interior angles of a polygon is 1260°. The number of sides of the polygon is:

= (S sy S 8 s - 2 1260me sane (S mas) ) (Sl S OB S

A6
A6
A6

B.7
B.7
B.7
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C.8
C.8
C.8

D.9
D.9
D.9

Answer: D.9
D.9
D.9

100 AT YD U=AT Uh T fauraad IR faum siigd Sai=arard! A, B, C 3101 D 39 IR fagm
3{Ted. HHAR Ay SIS oSt sume oy [qem gu=an faem=rar gaad, ST gl faum didbeetedr
U faumred fAfed s,

A. TdI-T DR YUITell AN HRUATd 3Teit
EE LR N ER SIS
C. qaluTa! Ue X AR gl

D. gatardt fafay & 3.

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If new tax system is implemented, there will be one tax for all.
A. new tax system was implemented

B. new tax system was not implemented

C. there will be one tax for all.

D. there are different taxes for all.

S s Sduie pand g K 5wl S (63 ) e e ) laa s du S o ales SO e Dl 1l
op Githe S Ol 638 e hie Lea 53 sl by Se gl Hol (S alea o g abea Sy (s - i

B gy SIS 7l S S LS LS S s (S L S
ALS LS MU g (S5 i

BULE LS (e 3 s (a8 Wi -

CR 5 oSS 8 7 )b Sy A S

D- S U oS S b caling S

AAC
AAC
AAC
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Answer:

101

Answer:

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.CD
D.CD
D.CD

AAC
AAC
AAC

DIRECTIONS: Complete the seriesbv choosing right figure from the given choices.

oS oo 5 s S 09 5 S5 Bt i 1kl o a1l

Froblem Figures

GET IT ON
Google Play

Cd
] B O
O BN
1 d 3 &
Answer Figures
B OO0 m Om @O
A ® © O
A. (A)
B. (B)
C.(C)
D. (D)
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102 WU BT T T TR AT e AT UG Rid dRa?

Which one of the following demonstrate the correct relationship between drive and need?

= BS e A Blad Can pd eyt S G sl Soma lai S e i a p2ie

ATH g ufaqRa

A.Compensatory to one-another
Anagae A S o s K

BT TuTe
B.Uniform in nature
B.uiluSy (ae & lad

C. T TH Tl HTIOT R Ta=aHal
C.Drives comes first and need afterwards
C.om s D pm e o) g ) L G e
D.ql%! UhAD T GHIR 3MTed

D.Both are parallel to one another

D.on silsie S oy SOl sisn

Answer: AU® @'Cﬂr:ﬂ Cﬂ%fw

A.Compensatory to one-another
Anagae A S o juss SO

103 HEAT: Wleilel W&l HHEEedl U dehsaren (Jiel=l / AesR / o) 9531 Sidedl e
@ 8k GISell HTEd. B SEIG Iodsedra]. Weamie] HTdhdraarer igwal. mﬁmﬂﬁ

et 3Tl fiasT S SeEseaEt SREE Taey Y94 GrEidearaHeT e,

DIRECTIONS: In the following question a sheet (square circle triangle } of paperis folder and punchis
made. When unfolded the paper sheet looks like the question figure. See the answer figures and select the
one that follows the manner in which the paperis folded and punchis made

gl Ugh it v 58 i gy S S sl (05151 g0 nbiln) i GS 28I o Jlges B i ol Ll

Ugh 5 18u 35IS S S 52 i Sl S 608 5 (5K lsn 1 g 2o S S8 Al it 4S 338 1S

e e e e R i o g s
|
I
|

=i [ D

]
B (C) (D}

e E
e -

X (A

| 1
| |
| |
| i
] [
i i
1 |
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Answer:  B. (B)

104 frcer. arefiat oy facienn Weafar s sied.
here/ bright/ pride/ stout
TAH UGRHR W(S&Y) S il 37Ul }eg daR Blciid?
DIRECTIONS: Following question is based on the given words.
here/ bright/ pride/ stout
If ‘W’ is placed before every word then how many meaningful words will be formed?
op daidie pisadl oo 3 digm S dis Gy
here/ bright/ pride/ stout

o W K b Ll Jese S g s WS

AUdDh
A.One
A

B.aH
B.Two
B.s

c.H
C.Three
C.us

D.AR
D.Four
D.o»

Answer: AUDH
A.One
A
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105

Answer:

106

i e afRTeer) SRTUT=aT G THH ATdTaRuITd AT SHd Jard

GET IT ON
Google Play

Same environment imparts different childhood experiences to children with different behaviortraits

c’u)S.\.\Ao)!JCuQ\ﬁmymé;ﬁ);ub}s&b)ﬂéuﬁdmﬁuﬁd};u@@\

AR
A.true

Azsa

B.@lC

B.false
B.kle

c.ffEra mfea =gt

C.Not sure

D U HIuag! et

D.None of the above
Do e Yoz 2

AR
A.true

Azaa

3EH UHel 8 ERINEREIRS]

Azim Premiji is the owner of —

uﬁ&u@ﬁﬁﬁj“:

AR

A.Infosys
AL S Gua il

B.ERNITy

B.TCS
B.=S sl o (5

c.faun
C.Wipro
C.=S s

D gt Hiurag! et

D.None of these
D.ow &S = ol
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Answer: c.fam
C.Wipro
C.=S s

107 RIS 24 30T TR 4 AT G TBAT BT ArA de G fagidid &
Find two numbers whose sum is 28 and difference is 4. Mark the smaller of them:

.w}dﬁu&écﬂaﬁsdd}54wo‘JJ\&ZM‘-W\SQ;J\L\JA

A10
A10
A10

B.24
B.24
B.24

C.12
C.12
C.12

D.4
D.4
D.4

Answer: C.12
C.12
C.12

108 3304 iAo Iedrd ISTER0 318

is an example of fine motor skill

= e SOl (Sl Sise 0 e

AU
A.Climbing
Al 5a

B.&maul

B.Running
B.U3js
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Answer:

C.Zgu

C.Sleeping
C.Usm

D.fafgur
D.Writing
D.Led

D fafgor
D.Writing
D.Led

GET IT ON
Google Play

109 A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic

expression ‘in the blink of an eye’ in the sentence given below?

The high-speed camera reveals how the frog uses its specialized tongue to capture the insect in the
blink of an eye.

A.Very quickly

B.Very slowly

C.With an injured eye

D.None of the above

Answer: A.\Very quickly

110

3fefigiic 3 (BN =t ==l ) gR § A S

The Achievement test measures—

el S S Jeala S

A iRt gefed 3

A.The knowledge related to content
Aple Glxie w0l 5

B.ITHIt A IS TR

B.The interest level in content
BcLu.u Lé &Th.u?.‘d U J\}A

C.OEf A&l a1

C.The increment in the content
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Answer:

111

Answer:

112

D. grief Geferd SifIeR U &Ry

D.The power acquire with relation to content
D.J s 1S Cilla ailaia gilu S 3l 50

A TRl gefed I

A.The knowledge related to content
Aple Glxie ol 5

I feoiedn yafaiieyd a7e d dTeR Flal.
DIRECTIONS: Find the odd one out from the given alternatives.

oS U S S o w one Jaltie K 3 1

A0TSR IA
A.Calculator
A Al SIS

B.®eR

B.Cooler
B.JisS

C.TTuTh
C.Computer
C. A

D.gRfe=arft

D.Television
D.0bs G

I RILUCLF
A.Calculator
AR SIS

B U I 3N fhal muerdid I«H faeRr afesa 9d 31mg.

is an active force of the highest order or power of Goodhead within us

¢ = ilh S aie (S a0 (i o) b il (S (S0 B)od el 25n 50 ol 4 e

A.3{TehHEdT, fgar

A.Aggression, Violence
[N E RS TGITENIPN
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Answer:

113

Answer:

114

B.foRram, Ateror
B.Frustration, Observation
B.oabia ¢(cas 2a

C.sifgan

C.Non-violence
C.oai axe

D.TR-FfRar

D.Non-dependence
D._basil axe

C.3ffgar

C.Non-violence
C.oai axe

I Tiellel 99AId, TEeiedn SOias Afcwed T Hhl foas.

GET IT ON
Google Play

DIRECTIONS: In the question below, select the related figure from the given altematives.

-:=“-‘?J-"H-"° SR e e e T e Jlj'“:s::d:':'\‘* Ve 2

Problem Figures:

& N[
e Y ""9

D.4

B.2

7

Answer Figures:

©
Al

)
.

(17)"7 =1 ORI Uehep R 372

The digit in unit’s place of the product (17)'7 is?

f i i ol S ST (17 ) Jala
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A.1
A.1
A.1

B.3
B.3
B.3

C.7
C.7
C.7

D.9
D.9
D.9

Answer: C.7
C.7
C.7

115 YT T JeiTdl Hiferdh! guf &,
ABDH, BDHP, CFLX, DHPF,
DIRECTION: Complete the following series.
ABDH, BDHP, CFLX, DHPF,
- S e 58 G dd s pdiercyla S Jlse

ABDH, BDHP, CFLX, DHPF,

A.EKNT
A.EKNT
A.EKNT

B.TNCK
B.TNCK
B.TNCK

C.EJTN
C.EJTN
C.EJTN

D.UNTE
D.UNTE
D.UNTE
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116

Answer:

C.EJTN
C.EJTN
C.EJTN

SIS T U] TTeTHe) TER aks faamai SHIvrdr &d 1 HR1a?

In what capacity a senior student should work in a group of juniors?

§ e LS alS (e iy S S S b Juisa S ale Qllh i Sias (S

Aftm

A.A friend
Al g3 SO

B.&IaQi
B.A model
B.~ised S

C.qrieei®
C.A guide
C.uK sy

D.IEHNRI

D.A colleague
D.eibs SO

B.GHGQi
B.A model
Bl S0

GET IT ON
Google Play
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117 T iUl Ui FHafor HRoarret, @ et (P), (Q) (R), (S) 30T (T) B UM a1e’ Ay SfIehHM
TAREHT R TR ATdid gl SR .

P. 3O SRIAT HIT U, "H T e HudT Adl Jrg- 21 o1 #t o= o1l SHTHmT A6l
Q. ETUN HIcd! TGO, TRl Sl SifRaTd Tegdl AreamTa! A Afdd wraer # 9suR aE"

R. T feasft, df Bad Ue Sl A1 IHhsdl.

S. ThHI3! T HIB! gidl, Y UhSUaIaR I Ief-dlg Irad 3.

T. A G6T A4Id e < ST 5t a1 SR Adl 61 Udhs STl SRd U $HHd.
TTEH HedHaR WIaadd! HIud ared grad 3Rd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.

P. The fish, in its desperation to live, said “Please leave me as | am small and of no use to you.

Q. The wise fisherman replied, “I will not give up a certain profit for one that doesn’t exist yet.”

R. One day, he was able to catch only one small fish.

S. There was once a fisherman whose livelihood depended on his catching of fish.

T. Let me back into the river so that you can catch me again and make more money when | grow
bigger.”

Which of the following should be the FIFTH sentence after rearrangement?

ostex @b O iy (P)e (Q)¢ (R)e (S) ush (T) ushlsm =8 2d 2 ey e imad i iojligs A S il )y Jea b S
s S

P. U5 03 S oS (€ S o) 0o (sen 0l AS UsS 59 T ene S S by US Gae Cals (S 0 5 e,
Q. Baisn 58 (o i oie Sl Gae L o el 52" cbd Clsa 5 2l s e Jie,

R. 1o clalS Gae 5350 Jeae (Soen Sl I 55 600 S

S. L Dl 3550 ene 5550 S Lol seme SOl L S,

T. o3 563 U o 3l i o3y sl 5550 0 Jlsd el (SU 53 JIS Gl s Gpe L3 —ea,

$ s Loy o gaily alea Lu (958 2ay S 50 G yio Jlso

AQ
AQ
AQ

B.R
B.R
B.R

C.S
C.S
C.S

D.T
D.T
D.T
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Answer: A.Q
A.Q
A.Q

118 Ueh I [RI&D gl W Bl
An efficient teacher ensures—

o iy 5 il e S

A e faemat wefia ggeraf e

A.Feelings of co-operation in his students
A. olaal 1S glai e Wil 3

B.HIUIATE] e 7 &l Wd: =T HRTER
B.Full freedom on his own part without any restriction
B. ol deSe sk il S sl oS

C.r= faemaiaeha Wyt

C.Competition among his students
C. wile cple Sl 3l

D IRFRUATR faemaf aed ggeR fovar wuf =t yra

D.Feelings of either co-operation or competition as the conditions permit in his students.
D. ol a¥la _SUlh Sl s Glulia) S Eiluae b oglad 514

Answer:  D.URTRUIIIR faemal e SgeR fdvar wuf 9t yra

D.Feelings of either co-operation or competition as the conditions permit in his students.
D. ol a¥la SUlh S Gl s Glilia) S Cilae b gl 814
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119 I T AU 3ftT AR g A, | 3on 1| fae sied. 8 faum™ amT=a: 1a aegeydiuet fid
3l I T TR S TN, fedeamiet wiurdr fswY faden faumias Taw! FTedl I3 Udhd §
TR BRAR TR THY IR Jford Bl

faem:

HTE! G AR 31T
PIG! AP DIl 3Md.
ey

|. BTe! G PHIca=T 3ed.
II. PTET BICTT AP 3MRd

DIRECTION: Two statements are given following by two conclusions, |, and Il. You have to consider
that statements to be true, even if they seem to be at variance from commonly known facts. You are to
decide which of the given conclusions can definitely be drawn from the given statements. Indicate
your answer.

Statements:
Some books are Magazines.
Some Magazines are Novels.

Conclusion:
|. Some books are Novels.
II. Some Novels are Magazines.

U:\:\Mﬂm#u}mmi}dﬁsﬁmjdjﬁg\g_ |‘J}\||_Ljuaﬁa}wac\?s;eﬁ\‘dmumjads@iuajﬁgf\.
Cloa Lyl 5 DISG — Cuiaifin ga 3 US JUEA) il sk iy s psadld K0 S ) S Citdae o 3l
o S R

Oy el
o sk 0 B ~as

Gt
lun dsb (S S .
Now o8 Jsb s

AFHd | ey fud
A.Only | follows

A_d(’_\u‘)dq‘)ml

B.®do || sy fAga
B.Only Il follows

B-g’d‘“JJ‘—'U*A”

C.UH®R | fhar 1| ey Ao

C.Either | or Il follows
Clull o
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D.| forar 1| fAsp fRguiR e

D.Neither | nor Il follows
DAl os |l =y

Answer: B.%d || fed fed
B.Only Il follows

B_GHLMJJ&_'Q);A”

120 T Weitd AT M B9 faedr Ui 3T 1.
Ueh] JTEaSATd g1 AR ST el STard ST <ff HARURE g9 81&HA IAdRT Judrd. HIegex
g HiTesaR] fobdl IATRT B ATe]. ARbIalol & HRHARI [Hecs SR dables AR 3T
WeRea Ywhar! g Sftr TieReaw 7 Rud DUSaaed Ue fGauid SiR 3iTg. SriRmRa=an SeTe
T feaw ot HIordet amer g, (at fea=ht getar fiaw omg onfdr WivaR &1 geten feaw e
WTeTade! SV AR SHfad ST Fad 3Hg?

DIRECTIONS: Study the following information to answer the given questions.

Six lectures are scheduled in a week starting from Monday and ending on Sunday of the same week.
Computer Science is not on Tuesday or Saturday. Psychology is immediately after Organizational
Behaviour. Statistics is not on Friday and there is one day gap between Statistics and Research
Methods. One day prior to the schedule of Economics there is not lecture. (as that day is the ‘off’ day
and Monday is not the off day)

Which of the following is the last lecture scheduled?

S ~allae 1S Claslae dod aatie o S i Gilsa S Gsllsn 80 1clly

S oatie b JRie il JigmeS n 8 S J3id aSilea s s S s D)) sl S s g b e Lw O Al (2 SO
Ol S 8 Ayl Biat sl lyjled sl o b S ames Glledic oy S ) oealal g sk (658 ludi . S
O S ep o 03 = S e 09 03 SIS) - o Sl GBS i 08 S S 58k S bl n 1S 0 S
= o)

$ o LS LS Jdad Gne DA w528l L (35S (e 3 s ie

ATlefed

A.Statistics
Al el

B.Rud gy
B.Research Methods
BLAS Ay i

C.HITIRIA

C.Psychology
C.obuss

D.Tide! BIurdie) et

D.None of these
D.ow &S = um O
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Answer: D.?Il'i'aﬁ ﬁ'ﬂﬁﬂ'@ =|'I'6°f

D.None of these
D.od &S o

121 07:09 @1 fifHe 30T I HIedTex™M ST HIvT 3?2

What is the angle between minute and hour hand at 7:09?

7:09 T G )3 LS (g S S ) Eia

A.120.5°
A.120.5°
A.120.5°

B.160.5°
B.160.5°
B.160.5°

C.49.5°
C.49.5°
C.49.5°

D.19.5°
D.19.5°
D.19.5°

Answer: B.160.5°
B.160.5°
B.160.5°

122 TS Yo Tl dedieaT SfRdesTd Tidl AR 3 bl

The earliest asylums may have contained

d%ﬁ&@éﬂu\ﬁﬁfw

A

A.Prostitutes
Al sh

B.IY&RY

B.Beggars
B.s b
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Answer:

123

Answer:

124

C. AARIBESE 3SR
C.mentally ill
C.um e £l

D.RUb! Id
D.All of the above
D.ses Yoz 0

A

A.Prostitutes
Al sh

(4 X4 X4)+ (2 X2 X2) 5
(4 X4)—(4 xX2)+ (2@82)

B.3

C.4

D.6

D.6

GET IT ON
Google Play

G T TUITHR 4107 3HT5. SR AT WS THT6! 37 3d, IR A3 A FHler?

The product of two numbers is 4107. If the H.C.F. of these number is 37, then the greater number is?

?51&.3:; ‘j:‘)@—.’:‘5‘37‘—%\@‘@‘SUJMO‘;‘-5‘4107‘.—’)*2’J‘ABSUJ)=‘A:‘JJ

A.101
A.101
A.101

B.107
B.107
B.107

C.1M
C. 1M1
C.1M
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D.185
D.185
D.185

Answer: C.111
C.111
C.A1

125

Answer:

126

C.SR
D.UT0! Id

A DD

e g gediaR IS0rdT A1 Ufeha ad
From the sun, heat comes to earth by the process of

G pomi g dee S g

A.i’@@lﬂ
A.Radiation
Ao gl

B.Vdlg
B.Conduction
[ERENSES

C.gdgd
C.Convection

D.Uchg! gl

D.None
D.of &S

GET IT ON
Google Play
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Answer:

A3 QQQ ]
A.Radiation
A glad

127 T Srqul ufede fAmfor sruararet, @t fiaet (P), (Q) (R), (S) 30T (T) & U aTe’ TRy SfIeh M
TARAHT BT, AR ATeid Ui ST .

P. ST ~RTATI T WU, "HY T8 SRIedT™ Hudl Jal Jrg &1 31fo1 1 o= FTe! ST el
Q. TGV SHIcd! UG, ATATIdd St SHfard Aegdl Areamre! A fAffd wraer o SreumR g

R. Toh fEa=h, 1 ad U Bierl AT U sdl.

S. ThPI! T Hics! Bldl, A ThSUATaR T IaR(-ag aerd 3.

T. Al 6T AIeid g ¢ 311fo1 1 JiaT SR Il G5 Udhs ST SR 0% $Ha,

TR FHGR WTeade! HId a9y 3Rd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence
to form a meaningful paragraph; then answer the questions given below them.

P. The fish, in its desperation to live, said “Please leave me as | am small and of no use to you.

Q. The wise fisherman replied, “I will not give up a certain profit for one that doesn’t exist yet.”

R. One day, he was able to catch only one small fish.

S. There was once a fisherman whose livelihood depended on his catching of fish.

T. Let me back into the river so that you can catch me again and make more money when | grow
bigger.”

Which of the following should be the FOURTH sentence after rearrangement?

ostex =l o) 1@y (P)e (Q)¢ (R)s (S) us) (T) usVlsm =8 0 i jeo ¢y casiyiojbga A Sl | m e by S
s S

P. U5 0 S S (S ST ) U Fsen o) AS 058 52 Tsen e S S by LS e sy (S et o lena,
Q. K 568 (o i Hoie Sl e ) o 1am el " b s S o) sene ia i,

R. s laalS (e 55 Gleame (ser S S 55600 S,

S. W& el 550 deae 55 S Lol seaa Sl L S,

T. S5l 50 63 O o 3l i o3y ) 5550 e st e o (SU 53 IS Gl 5 0ne Lo e,

s U leisn alea L S amy S i3 can i jug

AT
AT
AT

B.Q
B.Q
B.Q

C.P
C.P
C.P
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D.S
D.S
D.S
Answer: AT
AT
AT
128 HRATY JHCHE GHIAT 3Te:
Indian Parliament consists of:
= Jaidie Glad b (Sl
A.Thad TSTHHT
A.Rajya Sabha Only
A Gl
B. TG HT SATIOT IS HT
B.Lok Sabha and Rajya Sabha
B. L mal) Uyl e Sl
C.NHIYT ISTHHT HTIOT et
C.Lok Sabha, Rajya Sabha and President
C. sxa sl L mal ) L Sl
D. 5o AIBHHT
D.Lok Sabha only.
D. Gpa s S
Answer: C.TNHIHT IISTHHT T It
C.Lok Sabha, Rajya Sabha and President
C. Jxa s L mal ) Lo Sl
129 Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.
A.Concious
B.Valuable
C.Violent

D.Unique
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Answer: A.Concious

130 foaRAYATT Ugdian IRAR IR B R g fIeRid Har

With the frequent use of brain storming methods the teacher develops

= BS Jale g S8 Jueain) e G S )k s S5 seaies S EL

A FTH HegTRIeKI
A.good imagination
Ada el

B.Jqt

B.memory

B. «ila oy

C.gfgu

C.intelligence
C.ild

D. T TcH Tadt

D.good habits
D_QJLG LSGA.g‘

Answer: C.§@TIT-IT

C.intelligence
C.uild
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131 ST TTeia aRIT HIodds ardT o7 WTel! feeiear gy S
B5R 1@E K4 F 70DAM 2 P 3%9 H | W 8*6 U J$V Q#

fEciean Tafaite! HIvw T \3eR TR e aawi=ar STdl Hg 19 1 ST \3HeR =1 ST aef 7 d
387

DIRECTIONS: Study the following arrangement carefully and answer the questions given below:
B5R1@QE K4 F70DAM 2 P 3%9 HIW 8*6 U J$V Q#

Which of the following is the seventh to the left of the nineteenth from the left end of the above
arrangement?

S Sl o sl 00 S i S o Sy
B5R1@QE K4 F70DAM 2P 3%9 H I W 8*6 U J§V Q#

$ 5 LS Cia gl Sl Al _Schpm s puil gl S (ae sl 5 oy

AP
AP
AP

B.K
B.K
B.K

C.6
C.6
C.6

D.D
D.D
D.D

Answer: D.D
D.D
D.D

132

v6.25 - 05=7

A.5

B. 50
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Answer:

133

Answer:

C. 500

D.25

A 5

T WIeld HTfedT 31 & feaedr Ui I 1.

U] SHEITSATd HgT HARAT AT it ST 10T it HARURH Y 51 AdaRT Fudrd. dhigex
A= W@ aR] fhar IfHaRt gid ATg!. I idrel § S -ReRAd [See 3Rel dahie "R 33.
WeRed Ywhar! g Sftr TieReaw 7 Rad DUSHaed Ue fGauid SiaR 3iTg. SriRIRa=aT SToTe
T feaw ot HIurdet Fme Y. ( fea=h g fiaw s enfor WivaR &1 gt foaw )
DR - Do fea=lt g o 3mg?

DIRECTIONS: Study the following information to answer the given questions.

Six lectures are scheduled in a week starting from Monday and ending on Sunday of the same week.
Computer Science is not on Tuesday or Saturday. Psychology is immediately after Organizational
Behaviour. Statistics is not on Friday and there is one day gap between Statistics and Research
Methods. One day prior to the schedule of Economics there is not lecture. (as that day is the ‘off’ day
and Monday is not the off day)

Which day is computer Science scheduled?

S ~adlae 18 e sl S e aie St cilpn S Gallpe € iy

S oai b e guitls JianaS o K S Jshd paSlan s s o33 (e 1) ) S 51 g s e n e Al (2 S
Oed S S Ayl st gl Sl led Hgl ooyt S amea Gljledic an S ) alall g sk (608 Cladi . o
0318 e 03l 2 09 1S s 09 05 SSIS) - o e Sl (S s 09 S S s S clalal . i 1S (0 S
= o)

$ o LS JsRl ol S50 S S Guiile fisnaS

AFHAR
A.Monday
A x

B.gYdRR
B.Wednesday

B.ax

C.=dR
C.Thursday

C.&L\)&A.;

D.FuiRa & 9 Tehd 8.

D.Cannot be determined
D. B e LS Gy (pald

CI[=dRR
C.Thursday

C_Q\)A.A;
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134 T GIeid ATfgdraT S Ho feaed i 3T 1.
Ueh] TEaSATd g1 AR SATITd el STard ST <t HARUR g9 81&H IAdRT JUdrd. HIegex
T W dR] fdhar HaRT §id ATel. rdIdrsl g ORI Ve 3R dables R 33,
wfeRea Yepar gl onfir wWieReaw g Rud Arugawed Ue feawurd siaR 3iTe. SriRmera smaerTe
% feaw ameht SIoragt re gl (f feasft getar fiaw 3 i Grar g1 getan feaw g
SR FYIR YT fead S R BIS 2 - 4 3T, OR aRI Yo T fad' 3d R HIs 3 - 3 3.
gerd1 feaw faaRTd Udr Wieiaia! HIvd S arg 3g?

DIRECTIONS: Study the following information to answer the given questions.

Six lectures are scheduled in a week starting from Monday and ending on Sunday of the same week.
Computer Science is not on Tuesday or Saturday. Psychology is immediately after Organizational
Behaviour. Statistics is not on Friday and there is one day gap between Statistics and Research
Methods. One day prior to the schedule of Economics there is not lecture. (as that day is the ‘off’ day
and Monday is not the off day)

If Wednesday is the ‘off day’, the code would be 2 — 4. if Thursday was the ‘off’ day, the code would be
3-3. Taking into account the ‘off’ day which of the following code is correct?

‘S e 1S e glen Jid andie ol S il S ol R 0y

S i b Rie il FaneS gn K S Il aSalan s s S e s ) S s 508 e m oe Al (3 S
Ohed S S Al sl 883 )5l il lad )l o oxd S ames el qam S ) el g sk )8 Sl . o Gy
S e sl = 08 S en 0005 ~NS) o e S BS  00 S S st S bl 15 1S 00 S
= o)

i S, ohiae S S e’ Bn 3833 5 S e Womes 814 -2 8038 5 o008 Jey’an S
€ 2 S8 L 058 e Jid a2ie

A.2-4
A.2-4
A2-4

B.3-3
B.3-3
B.3-3

C4-2
C.4-2
C4-2

D gt Siurdied) et

D.None of these
D.us &S o )

Answer: D.ZITaﬁ @W?‘ﬂﬁ ?[33[

D.None of these
D.ow 58 = e O
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135

Answer:

136

GET IT ON
Google Play

Rigudrs dic aragd, SRR TUrd!, “g1 HIgdT TSl Udid deid 8. 7 Riged gRRMiad A Hra?

Pointing to Sidhu, Harish says "He is the father of my mother’s husband. How is Sidhu related to

Harish?

S Al WS e S pan LS el S e 2 "SS5l S S el il (S saau

INCEI
A.Father
A.2b

ISIEN
B.Grandfather
B.lala

C.gam
C.Son
C.4

D.Sds

D.Son-in-law
D.akla

ISIE
B.Grandfather
B.lala

T YR HITGIAR TER! 218 YA ol HRI—

A Sucking paper absorbs the ink spread on the paper because—

= S s S LSS ) G e B8 s oS 2 (i

A RIS 3G ST
A.Ink evaporate
A= S o gle Qhds,

B XA e ot 3d
B.Ink contains viscous force
B. = &5 o 3 e Sl

C. T TR\ 3Tl s QTS YA o

C.Ink absorb the pores present in sucking paper
C-g‘@ﬁ%#ﬁemﬂﬁyuyitiw\l;\ gy
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D. T UIRTS 3¥ciel {55 QTS HIRTewT fehdgR =M oara

D.Ink is absorbed by the pores present in sucking paper by capillary action
D.—= Sl S i Slbg) repd S ale 25 50 (e 2818 D) aa g (S (e somid) G850 s LS

Answer: D ST UIRTE 3¥TcTel {55 QTS BRI fhdgR QMY oara

D.Ink is absorbed by the pores present in sucking paper by capillary action
D= S s Jdyg)am)d Solie e e 288 sl a5 (S (dae omid) 0dSG) sLS

137 AT et faeiedT UHTd U fauT 318 ST | AI1O7 11 31 g by et Sifdhd Pl 3ied. AT SR
aid arg uar FHasT.

faem:
U1 fafRTy resd TRI&T SOMm=aT ¥d et off TR Il redr. X g1 Geri e M TR S9e i,

-
. X Ttem 3ol giga.
I1. X TteT I<itvl BIUIR AT,

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and Il.
Based on this choose the option that is most suitable.

Statement:
In a certain school all the girls appearing for the exams cleared the exam. Xis a girl appearing for
exam in the same school.

Conclusions:
I. X will clear the exams.
1. X will not clear the exam.

.h_‘.
Ol
WS Gl sl 5 ST alad (s (s glaial Gae JsSs (a sadie SO X L el s J S () Sl o (ST,

=
I XS 2 S ol laial,
I XS o S U ol i),

A D ey sHie | faUT Srgas e

A.Only Conclusion | follows
Al Gipa | 8 50 KY

B.5a® Y i || UM e 38

B.Only Conclusions Il follows
B Gy || & 50 Y
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C.fry wHi® | fhaT Il SrTeRe 3
C.Either I or Il follows

D FIurdTg! fshy Srgae g
D.Neither | nor Il follow
D.los 18 5 e SY o (B8 e 0me

Answer: A.$Hda FhY HHIS | fUHRT ST 318
A.Only Conclusion | follows
At Gpa | 8 5 LY

138 gl fasraras fdeR 3
is a developmental disorder

= A S S

ATSITTE!

A.ADHD
Asig i)

B.fexifeRyar (@ 3feman)
B.Dyslexia
B.oxS e il (S a3

c.AfdHea
C.Mental retardation
C.ls £la

D.QQH@
D.ASD
D.s3 ol o)

Answer: D.QQFI@

D.ASD
D.cs3 u o)
139 Out of the given options, choose the one which is the correct indirect speech of the sentence given

below.
Michael said “Alas! | have broken my brother’s watch”.

A.Michael exclaimed sorrowfully that he has broke his brother’s watch.
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B.Michael exclaimed sorrowfully that he have broken his brother’s watch.
C.Michael exclaimed sorrowfully that he had broken his brother’s watch.

D.Michael exclaimed sorrowfully that he had broke his brother’s watch.

Answer: C.Michael exclaimed sorrowfully that he had broken his brother’s watch.

140 g =Y
7888923 — 6999128 = ?

Simplify:
7888923 — 6999128 = ?

ol salu;
7888923 — 6999128= 7

A.889785
A.889785
A.889785

B.889775
B.889775
B.889775

C.889795
C.889795
C.889795

D.889765
D.889765
D.889765

Answer: C.889795
C.889795
C.889795

141 Out of the four alternatives, choose the one which can be substituted for the given words/sentence.
One of the two days in the year when day and night are of equal length

A.Equinox
B.Curse

C.Benediction
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Answer:

142

Answer:

143

D.Omen

A.Equinox

feeeliel Sreiedn SIaRRISE faHHdes e A1d S 31872
What is the name of international airport located in Delhi?

§ o WS L S S g ol Y Gl g e Lo

ASERT Tt SRR faude
A.Indira Gandhi International Airport
A, o3 s el Y1 o aaiK i)

B.HERI JdRIC Y faqdes
B.Sahara International Airport
B. Cospuad) Jid 5 1l

C. Aol TS I SR fadHds
C.Netaji Subhash Chandra Bose International Airport
C. S Julis ) (g i (il o

D.fREddmRY SaRTSHy fauides
D.Thiruvananthapuram International Airport
D. Coyspa) Jidd Sl o i) 5 53

AZERT e AR faurdes
A.Indira Gandhi International Airport
A. o3 Sl g (B AN )

ST 31 & 90 o 100 =T YUiTAE T8 AT HHRTS gacdd! Jo7

An 1Q in the range of 90 — 100 is range of mental retardation.

90 - = & S S e ¢ S S e S100

A JIIH

A.Average
Al

B.Hfed

B.Borderline
B.oY J3b) oY saka)

GET IT ON
Google Play
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C. gaqmH=T=AT Wt

C.Below average
C.oS —whuisia

D.3ffae™g
D.Profound
D.dxe , 53

Answer: A.Flé'ﬂ'lﬂm

A.Average
Al

144 e areiter wrsareh srfguiafdhe wam wisult B
1. GHOI
2.3F
3. faaw
4.9

5. hlH
DIRECTIONS: Arrange the following in the meaningful/logical order:

1. Exhaust
2. Night

3. Day

4. Sleep
5. Work

OS e S D A paie (e i A e/ Sihie SO) bl
1.5

2.4,

3. ¢

4. us

5. s

A1,3,5,2,4
A1,3,5 2,4
A1,3,5,2,4

B.3,5,1,4,2
B.3,5,1,4,2
B.3,5,1,4,2

C3,5 1,24
C3,5,1,2,4
C3,5 1,24
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Answer:

D.3,5,2,1,4
D3,52,1,4
D.3,5,2,1,4

C3,51,2,4
C3,5,1,2,4
C3,51,2,4

GET IT ON
Google Play

145

Answer:

AT Wdtd weiHe e yafaiayd e sier/<rse/Re Aaer.

feoren I (36, 54, 81)

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

Given set : (36, 54, 81)

81,54 ,36) :&um LS L)

A.(71, 53, 62)
A.(71, 53, 62)
A.(71, 53, 62)

B.(63, 27, 18)
B.(63, 27, 18)
B.(63, 27, 18)

C.(54, 45, 62)
C.(54, 45, 62)
C.(54, 45, 62)

D.(61, 71, 81)
D.(61, 71, 81)
D.(61, 71, 81)

B.(63, 27, 18)
B.(63, 27, 18)
B.(63, 27, 18)
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146

Answer:

147

BTN el JAUYH HIoft Hioretl?

Who measured the Speed of Light first?

S 2 oS Gilay S ) (S Gl o v

A TTTerfera
A.Galileo
A.sLK

B.e

B.Newton
B.f s

CIMR
C.Roemer
C.es0

D.3MT3TeTS

D.Einstein
D. o)

CIM
C.Roemer
C.es0

Y RIefd g AT BRI Bt -
Modern educators agreed that knowledge—

AS LS Gy byl 5 0518 e a2

A R urufire IEY SR

A.Is the primary end of education
A. = i i) (S sl

B. 31 T Qeifdrs TR guf HRugrrd! arTonst ufged siawad My s

B.Is simply a pre-requisite to more important educational ends

B. = b s Sl e g A (cadlad il 23l

C.Tad:d, TS aNTu[e et aTordt gt

C.ls, by itself, a reasonable gurantee of effective behaviour

C.o Cilen aulin S (S 15 Sise o o sk JS0A

D Ui Tredd oY) faeeif TarieH @) WR fad 9 § fommgara s

GET IT ON
Google Play

D.Is relatively unimportant in grade school where the emphasis should be on pupil adjustment

D. ks Ly CuiaiaBl (SUlb 55 Gl (2 usoma e L (e J Sl 3 8



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

Answer:

148

Answer:

149

B. 3T AeaTedT Aeifires TRl YUl SugTiTe! arTomR} ufgelt Sa=ad MY 3e
B.ls simply a pre-requisite to more important educational ends
B. = bl s Sl Gy A pailal ) 0305

TET: fecienn waiaime avTes d SRR Flel.
DIRECTIONS: Find the odd one out from the given alternatives.

S U S S o e e doltie 80 1

AMRAEI
A.Indian
A\

B.SIUmt

B.Japanian
B..4>

C.3fRean

C.American
C.s5n

PEIEINEL

D.Brazilian
D..b)lx

B.STUM!

B.Japanian
B.Ul>

AT HIde [AhNITS! A HR& SEEeR 3ed?

Which of the following factors is responsible for emotional development of the child?

$ o D aed 8 (B85 i (S ol 05S —w e dalse dd i

A gRuesdr 3nfor anfifes fRych

A.Maturity and economic status
A golai) o Sy

B.TafgRur 3107 UaiaRuTIRd

B.Environment and ecology
B.slsale sl Usnle
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Answer:

150

Answer:

151

C.uRkuesdr 3o fRrepor

C.Maturity and learning
C.ligSom ) Saay

D.fRreqor 3for gafaRor

D.Learning and environment
D.dsale sl LgSm

C.uRuesdr 3for R0t
C.Maturity and learning

C.leSanw )5 Saay

WedAUD SV MY WP Foaredt e85 I e died A8l?

GET IT ON
Google Play

Which of the following fact does not appear to be correct in terms of the motivation?

QUﬁwﬁuJJuu}S:&wéﬁh&@JAJmCm.b\;.‘ék;‘\\)&\/dmp

ATRUN &) et Siavid fRuch e
A.Motivation is the internal state of the individual
Ao Sl Gl (S padd e (oS e

B.Uqd fhaIhay § €&T SUMIR S¥d

B.The motivated activities are goal oriented
B.ow (s i g dalia ¢ e & pus (S (8 b sn

C. &4 WTed BIsudd Ugd aci+ are oad UTigel
C.The motivated behaviour is continued till realization of the goal
Cddjbéjlu\s&\)s\/dmp&d}mém

D aiqte®! Bretel el

D.None of the above
D.ow &2 &S = s

D.adU®! Bretel et

D.None of the above
D.ow &2 &S =

WU Y ared HIvT ?

AT AgH! 7T Ficad HId .

B.d T8 HaT JidT HRUMR 3G,
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C.d gH! A1Sh i HiId dra.

D.d "gH! AT A Hid SRIdT.
Answer: D.d AgH! AT Jiad HId gadTd.
152 AT feeied T ovTes o STeR Flal.

DIRECTIONS: Find the odd one out from the given alternatives.

s S U S S o one Jaltie K1

Age Y
A.Tree : Plant
Alldsyr

B.YXY : {1l
B.Man : Boy
B..S5:

C.BIHI/HMT : TaId

C.Uncle : Father
Clb:ba

D.Fﬁ:ﬂ?ﬂ'ﬁ

D.Woman : Girl
D.SH &

Answer: C.BIHI/HMT : goid

C.Uncle : Father
Clb:ba
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153 T WIeitd ATfgddT M B feaied Ui 3T 1.
U1 ST TET RN ST et Sirrd ST ot FHIRURG o 81d IAIIR Fuard. HIgex
IIg TR fdhar AfHaRt gid e Graeiars § SiHraeed S sRel dahies AR 3%
el gohar) et oftr Whefeay g R Ausayed Ue feaqie SiaR 3ie. 3rfeer=ar ST
T feaq aneht HIve! sare A1et. (@ fea=ht gehar fRaw o 3nfor e &1 gl faay )
YEHAR! B RS T SIUTR 3TR?

DIRECTIONS: Study the following information to answer the given questions.

Six lectures are scheduled in a week starting from Monday and ending on Sunday of the same week.
Computer Science is not on Tuesday or Saturday. Psychology is immediately after Organizational
Behaviour. Statistics is not on Friday and there is one day gap between Statistics and Research
Methods. One day prior to the schedule of Economics there is not lecture. (as that day is the ‘off’ day
and Monday is not the off day)

Which lecture is scheduled on Friday?

‘S e 1S Claghen Jid adie ol S i Gl S Ol R il

S oaie b Be il JianaS o K S J5hd paSlen s i dn Ge 1) ) S g sod e oy e Al (2 S
Olad S S adypla i ol ljled H) oGt S e Gljled o o S g oalall ) ga (568 bl .
O e m sl = 00 S (e (0005 A 5S) - U aSl (BsS  00 S S sl S Clpaliail L A5 1S 0 S
= u)

§ = Jshd Sl S S aran

A

A.Economics
A.cbalai)

B.HIIRIE

B.Psychology
B. ol

C. SR IF-H
C.Computer Science
C.omiilus figaeS

D U HIvde! et

D.None of the above
D.e GBS 0 )

Answer: D.W ?ﬁUTa?)[ :|Tép[
D.None of the above
D.e S5S = upe gl
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154 TRIYH R & fogd ad fos e 8t Sugad oife-
Research suggests that punishment is useful for—

ot e 3 S Ul iy B

A 3faifed UfcRe SrRHRaRe! Aifgdt fFmfor sxuamdt

A.Producing permanent forgetting of undesirable responses
AUl se Jitue € Jacd ) oSatis e

B.3faifesd Ufade SH! RGNS

B.Weakening undesirable responses
B.LJS JsieS S das ) onptinls

C . UfaTE TR ST 30t S o GU=T UaTg gR dead ST, Xdhd

C.Temporarily suppressing a response so that another may be substituted
C.5w Ll dalie oS 2 jusd (S ASE UL S Gl S) s (e

D.3{difed UfadTe f[aau" HRUgMTd! axde 3Ricied] ArUiE! TBAT HH! H0!

D.Reducing the number of unreinforced trials necessary to produce extinction
D.LS oS 5 dlani (S ledie (2831 g i B 5 g pn S g aid

Answer:  C.HfHITG AIcRd QIS 3901 SIUIded d ga=dT Ua1d §R Saad ois Jdbd

C.Temporarily suppressing a response so that another may be substituted
C.5w Ll dalie S 2 jusd (S ASE UL S Gl S) g 5h (e

155 82992 + ? = 76x42
82992 + ? = 76x42

82992 + ? = 76x42

A.22
A.22
A.22

B.24
B.24
B.24

C.26
C.26
C.26

D.28
D.28
D.28
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Answer:

157

C.26
C.26
C.26

dedgAIgs . d eIl sed -
Chandrababu Naidu is the Chief Minister of —

. Loeys .
o sle) s sl sl pxia

ABAIcH

A.Karnataka
A. S S S

B.3{1Y USRI
B.Andhra Pradesh
B. =S Uiy | sl

C.aaon

C.Telengana
C. =S ~&als

D gt Hiurag! et

D.None of these
D.o &S = ol

B.3{fY UeX
B.Andhra Pradesh
B_ é u.‘lgd)..:a \)A.A.'J

ST ATgHdATE FgurS!

‘Global Warming’ means

= e e Sl dagl

AR gUTE argHges dAYHAHHE dle

A.Increase in temperature of the Earth due to greenhouse gases
Azl (e ol ga and S (e e aang S sl el R

B. qHgTdel HRall 3Ngret
B.High and low tide in the sea
B.oid (o2 o) () Upe e

GET IT ON
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C.BFIGIC ST ardTaRuny e ary 3o
C.Emission of gases in atmosphere from dense forest
C.r) A 8 (ol e dsabe o Bin 28

D.UaH 3o Y=t dqqHHe a6
D.Increase in temperature of Earth due to wind energy
Dbl e Gl a0 S e e mas S QU5 S s

Answer: AR SUTE argHges dAYAHHE dle

A.Increase in temperature of the Earth due to greenhouse gases
Azl (e ol ga aan S (e e aag S R a3l R

158 AT feeied Taiie ovTes o STeR Flal.
DIRECTIONS: Find the odd one out from the given alternatives.

LS U S S o one Jaltie K 1

A123
A123
A123

B.132
B.132
B.132

C.231
C.231
C.231

D.321
D.321
D.321

Answer: B.132
B.132
B.132

159 Choose the word which is most similar in meaning to the given word.
REMORSE

A.Regret

B.Joy
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7

Answer:

160

Answer:

C.Delight

D.Solace

A.Regret

I Wt wyiHe e yafaideyT Jaftd sier g fasr.

AMPG : DOMI :: ? : NKIQ

GET IT ON
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DIRECTIONS: In the following question, select the related group of letters from the given alternatives.

AMPG : DOMI :: ? : NKIQ
‘S iie g R adleie € iy a (e Jaliie 8 0 c(pe g b aa e 1ans

AMPG : DOMI :: ? : NKIQ

AKILO
AKILO
AKILO

B.KIOL
B.KIOL
B.KIOL

C.KILM
C.KILM
C.KILM

D.KILN
D.KILN
D.KILN

AKILO
AKILO
AKILO
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Answer:
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IR ST AT STacid Wt HIvdl g AU sRIsR 3MRd?
(i) 7 79y fawR 3med

(i) & URad-IT 3mgd

(i) Bt SrdpreaTmid feewmum ITea® HiaHTHs &y 3rmg.

i N o W o ¥

(iv) d HID TS Hb1t 31 del SIS, K.

State which two statements are correct in relation with depression & mama?
(i) They are mood disorders

(ii) They are irreversible

(iii) They are prolonged maladaptive emotional state.

(iv) They can only be corrected by exorcism.

O o pd Sl 50 s S e Bl S Lale )l 5l AS (il
(i) o2 U A (S350 05

(il): L s LA o

(ii): = s (ds Gl e il o

(V) = S la S (2 o S Sl Sipa g3l (S O

A.(i) & (iv)
A.(i) & (iv)
A.(i) & (iv)

B.(i) & (iii)
B.(i) & (iii)
B.(i) & (iii)
C.(iii) & (iv)
C.(iii) & (iv)
C.(iii) & (iv)
D.(ii) & (iv)

D.(ii) & (iv)
D.(ii) & (iv)

B.(i) & (iii)
B.(i) & (iii)
B.(i) & (iii)

T x =21 =421 ¥¥W A x T Hpa et @

Ifyx ++21=+21, then the value of x is:
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B. 264

C. 176

D. 441

Answer: D. 441

163 YT Ud® URATA Ueh U@ faURied IR fau™ 3ed Saf=arare! A, B, C 301 D 31 dR faum™
3Ted. HHAR AU et Fasr Same wyd fau™ ga=a1 faum=rar gadad, T gt faum afhamesedr
g fayrmred Afed s,

MM ThdR I 3MTe fdhaT dIgat 31mg.
A. BATHM I 315,

B. §aTH 39T T8l

C. AT dIged! 31Te.

D. §dTHM dIcat ATel

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The climate is either hot or stormy
A.The climate is hot

B.The climate is not hot

C.The climate is stormy

D.The climate is not stormy

S omSss Shuie Gaenl g 8 bl S (68 ) i el e e aa Seaas o ales SOl e Vg s 1y
b iae S ol 6 S e ihie e 50 sl by S el sl (S adea 2 g0 Alea Sl ls L

Sash b e AL ausa
Ao e

B i o R pmisa -

C o Sk ausa.
D= ¢ Sésh ausa -

A.BD
A.BD
A.BD

B.DA
B.DA
B.DA
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Answer:

C.CB
C.CB
C.CB

D.AB
D.AB
D.AB

B.DA
B.DA
B.DA

Greftade! HIoKdt sfesr T=ft g2
Which of the following is a scalar quantity?

f o D (e e SO OsS m e D a2

Afdgad UrR
A.Electric Charge
Azl S

B.fagaa &=

B.Electric Field
B.o)ae S

C.TTdtag

C.Acceleration
C.ou hws)

BRSCIRRI]

D.Linear Momentum
D.alise ge it

A fagad uR
A.Electric Charge
Az s S

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

165 fer: fecear aie mfcrddia gt T e
15, 28, 45, 64, 85, 116, 147
DIRECTIONS: Find the wrong term in the given number series:
15, 28, 45, 64, 85, 116, 147
2068 aihle ez ju g 8 20 Gy

15, 28, 45, 64, 85, 116, 147

A.85
A.85
A.85

B.28
B.28
B.28

C.64
C.04
C.64

D.116
D.116
D.116

Answer: A.85
A.85
A.85

166 IS SHTCRIT 3TER, STIATUET HISATTST, TR0 IO TR FaaGdl TBUral
Respect for social order, commitment to elders, the young & needy is

= ks rs AIa ned (S (sdie g e b il g st e R0 sl pl sl 1S Gl oalew

A SIUTEHD &
A.Cognitive capacity
AssS Sl

B.HIGTHD HIRcY

B.Emotional competence
B.olaxiul Sbda
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Answer:

C . qHTfoTs BT

C.Social competence

C.olaxin) alews

D. NP BN

D.Entrepreneurial competence

D.dlaxin) A3l S aala

C.ITHIS DI

C.Social competence

C.olaxin) alaws

GET IT ON
Google Play

QY ST TugTaT TS UTHE, Tk 26% UTUfT 3178, 7 feTer Y g MG, fyummeia gurdt

TIDBAR! 76% BId. YO THT0T fobelt 31T

In a mixture of milk and water, there is only 26% water. After replacing the mixture with 7 liters of pure
milk, the percentage of milk in the mixture become 76%. The quantity of mixture is

O S e ey S S K€ e gl Saspgald 7. oo 50 JL26% <o o S e S L sl a3

= LS (S e W8 076% il saad S aa g

A.65 fered
A.65 liters
A.65 Al

B.91 fored
B.91 liters
B.91 jd

C.38 feed
C.38 liters
C.38

D70 HIUME! A8l

D.None of these
D. bt &S e O

B.91 fared

B.91 liters
B.91 il



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

168

Answer:

AT WTAd Ui e yafaiayd e siaR/=Tse/HRe FasT.

42 :31::7

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

42 :31::7

wﬁuﬁuw/kﬂ/uy&hh:»d)h’u:\ng‘uyd\)ugjyﬁa*)m&m.u

42 :31::7

A97
A97
A97

B.53
B.53
B.53

C.79:
C.79:
C.79:

D.64 :
D.64 :
D.64 :

A97
A97
A97

: 86
: 86
: 86

146
146
146

86
86
86

79
79
79

: 86
: 86
: 86
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169 T iUl Ui FHafor HRogrret, @ et (P), (Q) (R), (S) 30T (T) B UM a1e’ Ay SfIehHM

TAREHT RT; TR ATdrd 9! SR .

P. 3T ~RTRATET HIT Rral, "HY T SRIed HUdT Aell Aig o A1 H gH=a H1e! HrarT el
Q. BTN HIcd! TEUTeT," HTaToRld Sl SifRaTd Tegdl ArearTa! A Afdd wraer # 9suR aE"

R. T feaxh, dl Bad Us Sier™l A1 UdHsdl.

S. T PTB! U HIAB! Bidl, A UhSUITaR ATl IeHdg TTad 3.

T. A G6T A4Id e < SATior it a1 SR Adl 61 Ushs STl SRd U $HHd.

T HedHaR WTeadds! HIvd I gur Sd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence

to form a meaningful paragraph; then answer the questions given below them.

P. The fish, in its desperation to live, said “Please leave me as | am small and of no use to you.
Q. The wise fisherman replied, “I will not give up a certain profit for one that doesn’t exist yet.”

R. One day, he was able to catch only one small fish.

S. There was once a fisherman whose livelihood depended on his catching of fish.
T. Let me back into the river so that you can catch me again and make more money when | grow
bigger.”

Which of the following should be the SECOND sentence after rearrangement?

ostes @ o 1 bly (P)e (Q)¢ (R)« (S) Ush (T) ol 28 23 2 s e Smd i o gy A S Sl e b S

s S

P. U o oS alS oS ST )5l 0t (S o) AS UsS 53 Ssen e S S b e LS (e Cala (S )03y S5 e,

Q. Ko 568 o a5k Sl (e ) s (o 1am og) 52
R. s LS Gae 5350 Jeae (Soen Sl JA 55 00 S
S. L Dl 3550 ene 5550 S L o) seme SOl L S,

T. S 563 O o 3l i o3y sl 5580 e Jlsd gme al SU 53 IS Gl s Gre L3 —ea,

¢l Usa | pmgd alea L oS s S S G yiojliga

AR
AR
AR

B.P
B.P
B.P

C.T
C.T
C.T

D.S
D.S
D.S
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Answer: AR
AR
AR

170 faym:

FolTaT B
|. AT PR SigShR bl
I1. G ST Gt Sratar Qe Rar sur sifor <8 e aifge.

Statement:

A girl belonging to one religion decided to marry a boy belonging to another religion.
Course of actions:

I. The family of the boy should be boycotted.

II. Both boy and girl should be publically humiliated and punished

.1_‘-’-
Ol
LS Al 1€ gald w SH1 S b o gy 5SSy 5685 B8 e S

dac Y
|l Ul LS US40 1S gl S <31
s Gl o2 1w Lyl e Ua WS Gije ale w8 a0 (ST ) S35

ATHE | T 3T
A.Only | follows
A Ciypa| K &Y

B. e || SIIRIRUT 31T
B.Only Il follows

B. G Il IS 5 &Y

C.UHMR | fobdl Il SrgEe 318
C.Either | or Il follows
ColLl & 5 &Y Sy e

D.1 {3 1l S0} SRS SITER0 Fxa ATE

D.Neither | nor Il follows
Dol os 118 5 o SY o0 PsS e

Answer:  D.| a1 Il SE0®! FHETE! SARUI o3 TGt

D.Neither | nor Il follows
Dol osh -8 5 &Y (3 (558 s e
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171

GET IT ON
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LI Tt UAS G G fauHeR i fsswe 1, 11 3nfor 11 i aRifae sied. I Areld
ST THTERISR Sesd A d-l JIed [ae™ T Ted 3 FHT 3Nfor feeiedn faumias

THRAT e feaiedn Fshuite! HIord Ty 3ed o 3.

fAda:
ol cad G 3Ted.

HTe! Gl e TR,
s :

| PR 29 T I
II. DIUTATG! TS ¢ad febal g3 df AATg.
11, 9 gaTT AT 3Med.

DIRECTION: In each of these questions there are two statements followed by three conclusions
numbered I, Il and IIl. You have to take the given statements to be true even if they seem to be at
variance from commonly known facts and then decide which of the given conclusion logically follows

from the given statements.

Statements:
Some tables are chairs.
Some chairs are beds.

Conclusions:

|. Some tables are beds.

Il. No bed is either a chair or a table.
l1l. All beds are chairs.

el gl Oy S O o R 0 by 93 e Dl Sl e e e Ot e | sl HE =8 o8 oS Gl pm 8
8 e B AS S a5 o5l o ) B pSe S Bilis aglae y jshiale os e 81 o US il G jy S iy

o8 SR G Sty K 0 sk ki il

Sl
¥ S Ut 4S5
o i Ol S ¢S

da:
. - = 0 e b S 5Ly (S
HIL -Om G S e (g

A TS Ul haes sy | fohar 11 Frad e,

A.Only either | or Il follows
AsLcal L]l U8 som

B.opdos (AhY |1 FHYd 3Ty
B.Only IlI follows
B.<s Il - = BS sm

C. e fAspy 1| fFod s,
C.Only Il follows

Crall 268 6w
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Answer:

172

Answer:

D.$IUIds! fFrad 9.

D.None follows
D.—2 LS 0x sson &S

D.®IUdg! fad Tae.

D.None follows
D. = US G Gaom oS

&t foTalt - garvaRr Hfd 8 e 31y
The Shree Meenakshi — Sundareshwara Temple is in -

= o 1)) s paie SASUe

A PD
A.Kerala
A.oxe Al S

B. A1 A1g
B.Tamil Nadu
B.ue 536 Jals

C.FAlch

C.Karnataka
C.ux S8 S

D. gt} HIUE! 18!

D.None of these
D.ot 258 = el

B. A1 AT
B.Tamil Nadu
B.use 536 Jals

GET IT ON
Google Play



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

173 I WTed uHiHe e yataiayd e siaR/=Tse/HRe FasT.
YIYT: AR ; : AR : ?

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Language : Communication : : Wire : ?
wﬁuﬁuw/kﬂ/uyﬁhh:»d)hh:ﬁdJ‘uyd\yd:m/\;JmcLLm.u

LIS E IS I S P

AclH

ATie
Alaxl

B.dIS
B.Electricity

B.ol>

C.UDIRI
C.Light
C.2ds5)

D. WS
D.Fuse

D.s#

Answer: B.dd
B.Electricity
B.l~

174 YRAAHe Ufgeh geie-¢d $& UTaUIR 38

The first bullet — train in India will run from

Sy 0 Sl o e Sl

ATSRId d HERTY
A.Guijarat to Maharashtra
A\)ﬁ.&‘)\.ﬂra = Q\)Ag

B XTSI o T[oRTd
B.Rajasthan to Gujarat
B.laf i gl
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C.HERIY d dlfierg
C.Maharashtra to Tamil Nadu
C. 535 Jabs ) 330 e

D. A U= d ISR
D.Madhya Pradesh to Rajasthan
D.oleiunl ) = (3 0 mp2e

Answer: AR ?TUE'RTQ
A.Gujarat to Maharashtra

A\)ﬁﬁ\)\.ﬁ:&&\)&g

175 AT aA 99 § 11 GaredT JadT JaTueT 3 UT 3. 5 aNi-dR AIgl ag [T JaTedT 39Tl 3eayuce
BIsd. AT 99 a8 ST 318 (TuHe)?

My present age is 3 times of my son’s present age. 5 years hence my age will be two and half times of
my son’s age. What is my present age (in years)?

Gom - S me (S Fne e S s w8 G5l Je 5. U8 3 S jee sdsage (S Tn o e e 0dsnse Som
§ =2 LS(0pe Uslls) sas 23 e

A.40
A.40
A.40

B.45
B.45
B.45

C.55
C.55
C.55

D.37
D.37
D.37

Answer: B.45
B.45
B.45


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda297

176 ATl U1 fSHTUME Yard Ho- gaar 1 fhe arerd St S1f01 I STaidhe aea- 2 fe arerd ofor
JSldids des Jgl 2 Tl amerd. T gg1 o= IsTeu arefan 2 fobd arerd, foryA ot gl Srdids 1 fobat

ATefd. R <l gardre f3sTomurgH fadt g $ie?

Leela starts from a point and walks 1 km east and then turns left and walks 2 km and turns right and
walks 2 km again. Again she starts walking 2 km towards her right, from where again she walks 1 km
left. How far is she from the starting point?

e s 850 ol ) s SIS SR 2 ) (53 08h e ) s b (S B Sl ) WS g g s Akl SO 53U
Al e s s FeslS ] Gl (ibeg el e gl (WS g gl s el D Gl il ) e ol Gl RS2
?d)JJL;ESaJCm

A.3 Tt
A.3 km.
A3 - sk

B.4 fodt
B.4 km.
B.4 - i

C.5 fhHt
C.5 km.
C.5- i slS

D.2 feet
D.2 km.
D.2- i slS

Answer: B.4 foHT
B.4 km.
B.4 - i
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177 T WTete Ude UYTd, 4 faum el sied, SR IR Fehs smgd S 1, 11, 111 o7 IV
3ifdd del 3Te. FARHTIUY! I ST TR T sret daiig!, § I Sredrd dIeqRd AT,
IHTRIG: 14 e duids gael e, fidedr fswuites! v dheuot faumie SruRur HRdrd
d 3.
faem -

HTE! STR Jd 3.
DIUNIe! gd UfEH =9d.
Td UfSH afaor srgdrd
fsam:

|. BITTCE! STR UfEH 9.
II. TS gd UTH ST,
III. SBTEI GI&I0T gd e,
V. 9d G2 gd sredrd

DIRECTION: In each of the following questions, three statements followed by four conclusions marked
I, I, Il and IV are given. Consider the statements to be true, even though they seem to be at variance
with the commonly known facts and find out which of the given conclusion(s) logically fallow(s) the
statements, disregarding the commonly known facts.

Statements:

Some north are east.
No east is west.

All west are south.

Conclusions:

I. No north is west.

Il. Some east are west.

lll. Some south are not east
IV. All south are east.
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B.aw ey || fad sredm.
B.Only Il follows

B.<s sl = GS 6yom

C.Hda ey 11| fFud s,
C.Only Il follows
Casalll 2 US Gsom

D.UhdR ey 111 fFar 1v g s,
D.Either Ill or IV follows
D.sLllGIV on S8 6w

C.%de ey 11| fFad s,
C.Only Il follows
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DIRECTIONS: Study the following information to answer the given questions.

Six lectures are scheduled in a week starting from Monday and ending on Sunday of the same week.
Computer Science is not on Tuesday or Saturday. Psychology is immediately after Organizational
Behaviour. Statistics is not on Friday and there is one day gap between Statistics and Research
Methods. One day prior to the schedule of Economics there is not lecture. (as that day is the ‘off’ day
and Monday is not the off day)

How many lectures were scheduled between Economics and Psychology?
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oXsi|
C.Three
C.us

D.FYiid Fd SIS Thd ATal.

D.Cannot be determined
D. B e LS Gy (i

Answer: C.dH
C.Three
C.us
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B. fod <7 =g
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D. fod feeret el

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and
D. Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The bill is either due or paid
A.The bill is due

B.The bill is not due

C.The bill is paid

D.The bill is not paid
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Answer:

B.DA
B.DA
B.DA

C.CB
C.CB
C.CB

D.AB
D.AB
D.AB

B.DA
B.DA
B.DA

SgI AlhieaT qaid ST STaquft a1 garen sefiean AT
Most people’s earliest memories do not predate of age

ST S é‘:ﬁ = e ol ol Sl (S ik S

A.6 Hfga
A.6 month
A6 ~iys

B.1 ay

B.1 years
B.1 Jw

c.2ay

C.2 years
C.2 Jw

D.3 9%

D.3 years
D.3 Jw

D.3 %

D.3 years
D.3 Jw
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HEAT: Teoledr IRUST dam) (FHaE) HHOMT ATl AT Fel,
DIRECTIONS: Findthe odd figure from the given four figures.
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B. (B)
C.(C)

D. (D)

A. (A)

24 T 2011 d 13 3RE 2011 At fEawi=h H& &1 318?
Find the number of Days from 24 April 2011 to 13 August 20117
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A.111 feag
A.111 Days
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B.113 fldag
B.113 Days
B.113¢0

c.115 feag
C.115 Days
C.11500

D.112 feag
D.112 Days
D. 11202

D.112 feag
D.112 Days
D. 11202

GET IT ON
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“An Era of Darkenss” has been authored by -
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A.Pranab Mukherjee

A5 5 iy

BRI 4

B.Shashi Tharoor

B.i Usoe

C.AcR ¥
C.Natwar Singh
C.sb i s

D g0t Biurag! et

D.None of these

BRI Y=

B.Shashi Tharoor

B.& Usoed Al

Out of the given options which best expresses the meaning of the given Proverb?
Don’t cross the bridge until you come to it.
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187

A.You should deal with a problem or situation only when it arises

B.You should start planning and deciding a thing long before it actually arises

C.Itis not safe to cross a bridge when it is flooded with water

D.If you see any bridge while travelling you should discard that route

A.You should deal with a problem or situation only when it arises

(5)"° x (25)* = (5)"

(5)"° x (25)* = (5)"

(5)"° x (25)* = (5)"

A14
A14
A14

B.24
B.24
B.24

C.42
C.42
C.42

D.16
D.16
D.16

B.24
B.24
B.24
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Google Play
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DIRECTIONS: In the given question find the answer figure in which queston figure is embedded.
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C. (C)

D. (D)

Answer: D. (D)

188 0.18%d 3TYUNHId BUTR DRI
Convert 0.18% into fraction?

0.18% S s e mas S

A.7/5000
A.7/5000
A.7/5000

B.8/5000
B.8/5000
B.8/5000

C.9/5000
C.9/5000
C.9/5000

D.11/5000
D.11/5000
D.11/5000

Answer: C.9/5000
C.9/5000
C.9/5000

189 TR GIF IR Sdhedid, i Uil $led
In two step concept of attitude, the two steps are

‘s pd sY(two step) - = 2 e s ads) ¢ (e jseal S
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AT 3T FApTd

A.Target and result

Al ol oy

B.€0g 30T TId

B.Target and source
B_J.LAA )}\ A_QAZI

C. &g 31T 3

C.Target and identification
C.calis sl oy

D. &I 3fOT 3N

D.Source and identification
Dkl\;l.hi JJ\ )J.AA.A

C. &g 31T 3l

C.Target and identification
CQL\ALLJ: )J\ uﬁzl

DI Aifgdl B WUH AIada Sild?

Information on a computer is stored as what?

S S0 sl Gpe S5 S Cla gl 35 50 (e ST 5008 S

A. 3R e

A.Analog data
A3 &yl

B.fsfoied Se1

B.Digital data
B.&S Jia3

C.HISH eI
C.Modem data
C.LS a3 5

D.dc¢y sal
D.Watts data
D.GS s

B.fsfSored St

B.Digital data
B.US JiasS
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191

Answer:

192

Answer:

193

DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in
meaning to the underlined word from the given options.
He was released after 865 days in captivity.

A.Freedom
B.Imprisonment
C.Confinement

D.Arrest

A.Freedom

Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Dilemma
B.Arguement
C.Humourouss

D.Honouraryi

A.Dilemma

TEAT: Wl feden faur (A) 3for R (R) T8t Wieid Ut 9 uatg fRds:

faum (A): fofesr Trursa™ YR RexciumT RATOHT o,

PR (R): T Trorea enfiies geeareh R0 uxid bl

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from

the following:

Assertion (A): Christianity was established in India by British Empire.
Reason (R): British Empire favoured the policy of religious supremacy.
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AT (A) 3TIOT (R) T 3R 3NN (R) (A) T T TSIHRT 318
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A.(A) 25 (R) L5 o mosaa 05353 (R) (A) = sl s o (S

B.GI%! (A) 30T (R) ¥R 3MTed, TR (R) (A) T TG WPIHRUT 16t
B.Both (A) and CR) are true, but (R) is not the correct explanation of (A)
B. (A) Us' CR) o5« mona 05352 (R) (A) = e Cslimg a3 (S

C.(A) I 315, W] (R) Wic 318
C.(A) is true, but (R) is false
C.(A) & ¢z mna (R) Bl

D.(A) ®I¢ 3fT8, T (R) I 3MTe
D.(A) is false, but (R) is true
D. (A) SN « = Bk (R) = o

D.(A) WIc 3118, T (R) T M8
D.(A) is false, but (R) is true
D. (A) Sz bl (R) e

Answer:

194 Udh GhTFIGR ATl a%] W] fhadte fasbdl, uor dl Teb favdll ao-dt 875 Y0 a6l aTuRd). AT
TR TaHb AR BTGl

A shopkeeper sells his goods at cost price, but uses a weight of 875 g for the kg weight. Find his gain
percentage.

1S ) US Jlaniad 1S ¢33 8l K 875 1 S (055 1S Sl 8l e o S i g b Caa &Y S (el il 50 Sy
O1S  oxild

A) 14%%
B) 125%
®) 14%%

: 2.,
Answer (A) 14;“/-:-
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196

gedtaR 10Tl Uaft Jafd SiRd STdl?

Which is the largest living bird on Earth?

§ 2 0sS oy Hlaila 15wy e

AT
A.Emu

A. s

B RT8TH
B.Ostrich

C.37eqIe
C.Albatross
C.ousil)

D. grIERa o

D.Siberian crane
D.o S Gl

B.RIGTHT
B.Ostrich

el fiRen STRIUBRT Hivr gar?

Who- was the successor of Jehangir?

o opila S 580k

AXIg SiglH
A.Shah Jahan

Aok ol
B.3NIoie

B.Aurangazeb
B.ow) Kyl

C.gHIgA
C.Humayun
C.osiw

D.3{hdR
D.Akbar
D.s)
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Answer: A.RITg Sigl
A.Shah Jahan
Al ol

197

I TWelldl 31T U Iaselell BIA] gr@ den 6. ScaredT GAier S0 TR S AT
aeerea Taog drefenm 57

DIRECTIONS: In the following question an unfolded dice is given. From the given alternatives which
of the following will be opposite of 57

S JEb el i e Sl =‘£="‘: =‘-'£ bl s LE 38 s S e Jlge =5 o 1Slly
ELERCETY

(C). ¥

D) ®

Answer: () ¥

198 T BOIR T3¢y U 318 ...

One thousand bytesisa ...........

e oo S il 0 S

Afraarse
A Kilobyte
ALl LS

B.RYUETsC

B.Megabyte
SR
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Answer:

200

Answer:

Choose the word which is opposite in meaning to the given word.

BROAD

cfi lllaléa
C.Gigabyte
OBV

D.é?laléa
D.Terabyte
D.&ubl 8

Afpaese
A.Kilobyte
Al SIS

A.Narrow

B.Wide
C.Large

D.Huge

A.Narrow

Fill in the blank with the correct article.
| play piano.

A.the

B.a

C.an

D.No article required

A.the

GET IT ON
Google Play
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